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PART : PHYSICS 
 

Section-I  

Single Choice Type 

This section contains 35 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 35 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

1. A convex lens 'A' of focal length 20cm and a concave lens 'B' of focal length 5 cm are kept along the 

same axis with a distance 'd' between them. If a parallel beam of light falling-on 'A' leaves 'B' as a parallel 

beam, then the distance 'd' in cm will be 

 leku v{k ds vuqfn'k d nwjh ij ,d 20cm Qksdl nwjh dk mÙky ysUl A rFkk 5 cm Qksdl nwjh dk vory ysUl B 

j[ks gSaA ;fn 'A' ij vkifrr lekUrj izdk'k iqUr] 'B' ls fudyus ij Hkh lekUrj iqUt jgrh gSa] rks nwjh 'd' lseh esa gksxh%  

 (1) 15   (2) 50    (3) 30    (4) 25 

Ans. (1) 

Sol.  

 20 – d 

1

f = 20 
f = 5 

d 

20  

 For L1  

 
20

11

v

1

1




  

 v1 = + 20 cm 1 

 For L2 

 
5

1

)d20(

11








 

 d – 20 = –5 

 d = 20 – 5 = 15 cm 
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2. The equivalent capacitance of the combination shown in the figure is :  

 fn;s x;s la;kstu esa rqY; /kkfjrk gS & 

 
 

C 

C 

C 

 

 (1) 2C   (2) C/2   (3) 3C/2  (4) 3C 

Ans. (1) 

 

Sol.  

 

 C 
B 

B 

B 
B 

C 
A B 

 

 

 C 

C 

A B  = 2C 

3. Find the value of the angle of emergence from the prism. Refractive index of the glass is 3  

 fizTe ls fuxZr dks.k ds eku dks Kkr dhft,A dk¡p dk viorZukad 3  gS % 

 

 (1) 30°   (2) 45°   (3) 90°   (4) 60° 

Ans. (4) 
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Sol.  

 

 

60° 

30° 

30° = i 
60° 

90° 

n = 3  
e 

 
 3 sin 30° = 1 sine 

 
2

3
 = sin e ;   e = 60° 

 

4. A lens of large focal length and large aperture is best suited as an objective of an astronomical telescope 

since:  

 (1) a large aperture contributes to the quality and visibility of the images 

 (2) a large area of the objective ensures better light gathering power 

 (3) a large aperture provides a better resolution. 

 (4) All of the above 

,d og̀r Qksdl nwjh rFkk og̀r }kjd dk ysUl nwjn'khZ ds vfHkn`';d ds fy, vR;f/kd mi;ksxh gksrk gS] D;ksafd: 

 (1) ,d og̀r }kjd xq.krk rFkk n`';rk ds fy, ;ksxnku djrk gSA 

 (2) ,d og̀r {ks=kQy dk vfHkn`';d mi;qDr izdk'k laxzg.k {kerk dk dkjd gskrk gSA 

 (3) ,d og̀r }kjd mÙke foHksnu iznku djrk gSA 

 (4) mi;qZDr esa lHkh  

Ans. (4) 

Sol. Astronomical telescope. 

 All of these 

 

5. The electron concentration in an n-type semiconductor is the same as hole concentration in a p-type 

semiconductor. An external field (electric) is applied across each of them. Compare the currents in them: 

 n-Vkbi v)Zpkyd esa bysDVªkWu dh lkaærk mruk gh gS ftruk p-Vkbi v)Zpkyd essa dksVj dh lkaærk gSA nksuksa ij 

cká fo|qr {ks=k yxk;k tkrk gSA nksuksa esa /kkjkvksa ds vuqikr dh rqyuk dhft,: 

 (1) current in p-type > current in n-type. 

 (2) current in n-type > current in p-type. 

 (3) No current will flow in p-type, current will only flow in n-type. 

 (4) current in n-type = current in p-type. 

 (1) p-Vkbi esa /kkjk > n-Vkbi esa /kkjk ls  

 (2) n-Vkbi esa /kkjk > p-Vkbi esa /kkjk ls . 

 (3) p-Vkbi esa dksbZ /kkjk izokfgr ugha gksrh] dsoy n-Vkbi esa /kkjk izokfgr gksxhA 

 (4) n-Vkbi esa /kkjk = p-Vkbi esa /kkjk 

Ans. (2) 
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Sol. Semiconductor 

 I = neAVd 

 Vd = E 

 I = neAE 

  = mobilite of charge carriess  

 holes < mfree electron 

 nholes = nfree electron 

 p type < n type 

 

6. A body is executing simple harmonic motion with frequency 'n', the frequency of its potential energy is:  

,d oLrq 'n' vko`fÙk ls ljy vkorZ xfr djrh gSA bldh fLFkfrt ÅtkZ dh vko`fÙk gS % 

(1) 2n   (2) 3n    (3) 4n    (4) n 

Ans. (1) 

Sol. Frequency of SHM = n 

 

 

x 

t 

t 

PE 

 
 frequency of PE = 2   
 1 cycle of SHM = 2 cycle of potential energy 
 
7. A dipole is placed in an electric field as shown. In which direction will it move?   

 fp=kkuqlkj ,d f}/kzqo fo|qr {ks=k esa j[kk tkrk gSA ;g fdl fn'kk esa xfr djsxk \ 

 
(1) towards the right as its potential energy will decrease. 

 (2) towards the left as its potential energy will decrease. 

 (3) towards the right as its potential energy will increase.  

 (4) towards the left as its potential energy will increase. 

(1) nk;ha rjQ D;ksafd bldh fLFkfrt ÅtkZ ?kVsxh  (2) ck¡;h rjQ D;ksafd bldh fLFkfrt ÅtkZ ?kVsxhA 

 (3) nk;ha rjQ D;ksafd bldh fLFkfrt ÅtkZ c<+sxhA (4) ck¡;h rjQ D;ksafd bldh fLFkfrt ÅtkZ c<+sxhA  

Ans. (1) 
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Sol.  

 

 

F1 = qE F2 = qE 

Fnet 

–q q 

 
8. An inductor of inductance L, a capacitor of capacitance C and a resistor of resistance 'R' are connected 

in series to an ac source of potential difference 'V' volts as shown in figure. Potential difference across L, 
C and R is 40V, 10V and 40V, respectively. The amplitude of current flowing through LCR series circuit 

is 210  A. The impedance of the circuit is: 

 fn[kk;s x;s fp=k ds vuqlkj ,d L izsjdRo dk izsjd] ,d C /kkfjrk dk /kkfj=k rFkk ,d 'R'  izfrjks/k dk izfrjks/kd 'V' 

oksYV foHkokUrj ds izR;korhZ L=kksr ls Js.kh Øe esa tqM+s gSaA L, C, R ij foHkokUrj Øe'k% 40V, 10V rFkk 40V gSaA LCR 

Js.kh ifjiFk esa izokfgr /kkjk 210  A gSA ifjiFk dk izfrck/kk gS: 

 

 (1) 25   (2) 4   (3) 5   (4) 24  

Ans. (3) 
Sol. 

 

 

VL = 40V VC = 10V VR = 40V 

Imax = 210  
~  

 
2

CL
2
R )VV(VV  22 )1040(40   

 
22 3040   

 = 50 volt 

 z = 











 5

10

50

2

210

50

I

V

rms

rms
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9. If E and G respectively denote energy and gravitational constant, then E/G has the dimensions of: 

 ;fn E rFkk G Øe'k% ÅtkZ rFkk xq:Rokd"kZ.k fu;rkad dks iznf'kZr djrs gSa] rks E/G dh foek gksrh gS: 

 (1) [M] [L-1] [T-1]  (2) [M] [Lo] [To]  (3) [M2] [L-2] [T-1] (4) [M2] [L- 1] [To] 
Ans. (4) 

Sol. 2

21

21

2 r

smm

mm

Fr

s.F

G

E












  

 = 
2

12

L

LM
 = M2L–1T0 

 

10. For a plane electromagnetic wave propagating in x-direction, which one of the following combination 

gives the correct possible directions for electric field (E) and magnetic field (B) respectively? 

 x-fn'kk esa lapfjr ,d lery fo|qr pqEcdh; rjax ds fy, fuEufyf[kr la;kstuksa esa ls dkSu lk Øe'k% fo|qr {ks=k (E)  

rFkk pqEcdh; {ks=k (B) dh lgh lEHko fn'kkvksa dks iznf'kZr djrk gS? 

 (1) k̂ĵ,k̂ĵ   (2) k̂ĵ,k̂ĵ    (3) k̂ĵ,k̂ĵ   (4) k̂ĵ,k̂ĵ   

Ans. (1) 

Sol. VBE


  

 (A)  î2)2(î

110

110

k̂ĵî

V 





  (B) 0

110

110

k̂ĵî

V 





 

 (C) 0

110

110

k̂ĵî

V 




   (D)  0

110

110

k̂ĵî

V 


 

 

11. In a potentiometer circuit a cell of EMF 1.5V gives balance point at 36 cm length of wire. If another cell of 

EMF 2.5 V replaces the first cell, then at what length of the wire, the balance point occurs? 

 ,d foHkoekih ifjiFk esa 1.5V fo|qr okgd cy dh ,d lsy 36 cm  rkj ds yEckbZ ij larqfyr  fcUnq nsrh gSA ;fn 

2.5 V fo|qr okgd cy okyh nwljh lsy igyh lsy dks izfrLFkkfir djrh gS] rks rkj ds fdl yEckbZ ij larqfyr fcUnq 

izkIr gksxk? 

 (1) 21.6 cm  (2) 64 cm  (3) 62 cm  (4) 60 cm 

Ans. (4) 

Sol. = Balancing length 

 
2

2

1

1 EE


  ;   

2

5.2

36

5.1


   2 = 








5.1

5.2
36 = 36 × 

3

5
 = 60 cm  
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12. A small block slides down on a smooth inclined plane, starting from rest at time t = 0. Let Sn be the distance 

travelled by the block in the interval t = n – 1 to t = n, Then, the ratio 
1n

n

S

S



 is : 

 fojkekoLFkk t = 0 ls ,d NksVk CykWd fpdus ur lery ls uhps dh vskj f[kldrk gSA ;fn budk t = n – 1 ls t = n ds 

chp CykWd }kjk pyh xbZ nwjh Sn gks] rks 
1n

n

S

S



 dk vuqikr gksrk gS : 

 (1) 
1n2

1n2




  (2) 
1n2

1n2




  (3) 
1n2

n2


  (4) 

n2

1n2 
 

Ans. (1) 

Sol. 

}1)1n(2{a
2

1
u

)1n2(a
2

1
u

1S

S

n

n







 

   u = 0 given 

 = 

)1n2(a
2

1

)1n2(a
2

1




 = 

1n2

1n2




 

13. A parallel plate capacitor has a uniform electric field' E' in the space between the plates, If the distance 

between the plates is 'd' and the area of each plate is 'A', the energy stored in the capacitor is:  

(= permittivity of free space) 

 ,d lekUrj IysV /kkfj=k ds IysVksa ds chp ,dleku fo|qr {ks=k E


 gSA ;fn IysVksa ds chp dh nwjh 'd'  rFkk izR;sd IysV 

dk {ks=kQy 'A' gks rks /kkfj=k esa ,df=kr ÅtkZ gS: (=fuokZr dh fo|qr'khyrk) 

 (1) EAd0   (2) AdE
2

1 2
0   (3) 

0

2AdE


  (4) 

2
0E

2

1
  

Ans. (2) 

Sol. Energy density = 
2

0E
2

1
  

 = 2
0E

2

1

volume

U
  

 2
0E

2

1

Ad

U
  

 U = AdE
2

1 2
0  
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14. Match Column - I and Column – II and choose the correct match from the given choices. 

 LrEHk - I dks LrEHk–II ls lqesfyr dhft, rFkk uhps fn, x;s fodYiksa ls lgh lqesfyr dks Nk¡fV,%  

 Column LrEHk - I  Column LrEHk - II 

(A) 
Root mean square speed of gas molecule 

xSl ds v.kqvksa dk osx ek/; ewy osx 
(P) 

2vnm
3

1
 

(B) 
Pressure exerted by ideal gas 

vkn'kZ xSl }kjk vkjksfir nkc 
(Q) 

M

RT3
 

(C) 
Average kinetic energy of a molecule 

v.kq dh vkSlr xfrt ÅtkZ 
(R) RT

2

5
 

(D) 

Total internal energy of 1 mole of a diatomic 

gas 

1 eksy f}ijek.kqd xSl dh dqy vkUrfjr ÅtkZ 

(S) Tk
2

3
B  

 (1) (A) - (Q), (B) - (R), (C) - (S), (D) - (P)  (2) (A) - (Q), (B) - (P), (C) - (S), (D) - (R) 

 (3) (A) - (R), (B) - (Q), (C) - (P), (D) - (S)   (4) (A) - (R), (B) - (P), (C) - (S), (D) - (Q) 

Ans. (2) 

Sol. Root mean square speed vrms = 
M

RT3  

 Pressure exerted by gas P = 2
rmsv)mn(

3

1
 

 Average kinetic energy of molecule = TK
2

3
B  

 Total internal energy of 1 mole of diatomic gas = RT
2

5
 

 

15. The velocity of a small ball of mass M and density d, when dropped in a container filled with glycerine 

becomes constant after some time. If the density of glycerine is d/2, then the viscous force acting on the 

ball will be : 

 M nzO;eku rFkk d ?kuRo dh NksVh xsan dk osx fXyljhu ls Hkjs crZu esa Mkyus ij dqN le; ckn vpj gks tkrk gSA 

;fn fXyljhu dk ?kuRo d/2 gks, rks xsan ij yxus okyk ';ku cy gksxk : 

 (1) Mg   (2) Mg
2

3
  (3) 2Mg   (4) 

2

Mg
 

Ans. (4) 
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Sol.  

 

 Fv 
Fb 

Mg 

V constant 

 

 Fnet = 0 

 Fv + Fb = Mg 
 Fv = Mg – Fb 

      = g
2

d
R

3

4
dgR

3

4 33  = 






 
2

1
1dgR

3

4 3 = 







2

1
dgR

3

4 3  = 
2

Mg
 

 

16. A radioactive nucleus XA
Z

undergoes spontaneous decay in the sequence  DCBX 2Z3Z1Z
A
Z  

where Z is the atomic number of element X. The possible decay particles in the sequence are: 

 ,d jsfM;kslfØ; ukfHkd XA
Z

 Lor% fo?kfVr gksrk gS DCBX 2Z3Z1Z
A
Z    Øe esa] tgk¡ Z rRo X dk ijek.kq 

la[;k gSA Øe esa fo?kfVr lEHko d.k gSa] Øe'k% 
 (1) , +, –  (2) +, ,–  (3)–, ,+  (4), –, + 

Ans. (2) 
Sol. Radioactivity 

 
1

2z3z1z
A

z DCBX







 

 Bin 
2

Jr0  Bin  r 

 
17. A thick current carrying cable of radius 'R' carries current 'I' uniformly distributed across its cross-section. 

The variation of magnetic field B(r) due to the cable with the distance 'r' from the axis of the cable is 
represented by: 

 ,d 'R' f=kT;k dh eksVh /kkjkokgh dsfcy esa /kkjk 'I'  blds vuqizLFk dkV ij leku :i ls forfjr gSA dsfcy ds dkj.k 
pqEcdh; {ks=k B(r) dk ifjorZu dsfcy v{k ls 'r' nwjh ds lkis{k iznf'kZr fd;k tkrk gS  : 

 (1) 

 

B 

r 

 (2) 

 

B 

r 

 

 (3) 

 

B 

r 

 (4) 

 

B 

r 
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Ans. (2) 

Sol.  

 B 

r    

  

18. A particle is released from height S from the surface of the Earth. At a certain height its kinetic energy is 

three times its potential energy. The height from the surface of earth and the speed of the particle at that 

instant are respectively: 

 ,d d.k iF̀oh lrg ls S Å¡pkbZ ls fxjk;k tkrk gSA dqN fuf'pr Å¡pkbZ ij bldh xfrt ÅtkZ bldh fLFkfrt ÅtkZ 

dh rhu xquk gksrh gSA bl {k.k d.k dh i`Foh lrg ls Å¡pkbZ rFkk d.k dh pky gksrh gS: 

 (1) 
2

gS3
,

4

S
  (2) 

2

gS3
,

2

S
  (3) 

2

gS3
,

4

S
  (4) 

2

gS3
,

4

S
  

Ans. (3) 

Sol. mgs = mgs' + ½ mv2  ……(1) 

 )'mgs(3mv
2

1 2    ……(2) 

 mgs = mgs' + 3mgs' 

 s' = 
4

s
 

 
4

s
mg3mv

2

1 2   

 
2

gs3
v   

19. The half-life of a radioactive nuclide is 100 hours. The fraction of original activity that will remain after  

150 hours would be : 

 ,d jsfM;kslfØ; U;wDykbM dh v)Zvk;q 100 ?kaVs gSA 150 ?kaVs ds ckn izkjfEHkd lfØ;rk dk cpk gqvk fHkUukRed Hkkx 

gksxk: 

 (1) 
22

1
  (2) 

3

2
   (3) 

23

2
  (4) 

2

1
 

Ans. (1) 
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Sol. Radioactivity 

 t
0eAA   

 )150(

0

e
A

A   

 
)150(

t

2n

2/1e




  

 
150

100

2n

e





 

 
2n

2

3

e


  

 






 

 2

3
2n

e


 

 
  12/32ne



 
 

 = (23/2)–1 

 = 1)22(   =
22

1
 

 

20. A cup of coffee cools from 90°C to 80°C in t minutes, when the room temperature is 20°C. The time taken 

by a similar cup of coffee to cool from 80°C to 60°C at a room temperature same at 20°C is : 

 ,d di dkWQh ‘t’ feuV esa 90°C ls 80°C rd B.Mh gksrh gS] tc dejs dk rki 20°C gSA mlh dejs ds rki ij leu 

rjg ds di esa dkWQh dks 80°C ls 60°C rd B.Mk djus esa yxk le; gksxk % 

 (1) t
5

13
  (2) t

13

10
  (3) t

13

5
  (4) t

10

13
 

Ans. (1) 

Sol. 




 





20
2

8090
k

t

8090  …..(1) 

 




 





20
2

6080
k

't

6080  …..(2) 

 
50

65

20

't

t

10
  ;  t

50

652
't


 t

5

13
  

 

21. The escape, velocity from the Earth's surface is v. The escape velocity from the surface of another planet 

having a radius, four times that of Earth and same mass density is : 

 i`Foh lrg ls iyk;u osx v gSA leku æO;eku ?kuRo rFkk i`Foh ds f=kT;k ds pkj xquk f=kT;k okys nwljs xzg ds lrg 

ls iyk;u osx gksrk gS %: 

 (1) 2v   (2) 3v   (3) 4v    (4) v 

Ans. (3) 
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Sol. 
R

GM2
Ve   

 
R

R
3

4
G2 3

  

  G4
3

8
R  

 Ve  R  

 
P

e

P

e

R

R

V

V
  

 
R4

R

V

V

P

  

 V4VP   

 

22. Water falls from a height of 60 m at the rate of 15 kg/s to operate a turbine. The losses due to frictional 

force are 10% of the input energy. How much power is generated by the turbine? (g= 10 m/s2) 

 ,d Vjckbu dks pykus ds fy, 15 kg/s  dh nj ls 60 m Å¡pkbZ ls ikuh fxjrk gSA ?k"kZ.k ds dkj.k izkjfEHkd fuos'kh 

ÅtkZ ds 10% dh gkfu gksrh gSA Vjckbu ds }kjk fdruh 'kfDr mRiUu dh tkrh gS? (g= 10 m/s2) 

 (1) 8.1 kW  (2) 12.3 kW  (3) 7.0 kW  (4) 10.2 kW 

Ans. (1) 

Sol. Power generated by Turbine = P 

  P = gh
dt

dm
9 







  

  P = 0.9 × 15 × 10 × 60 

     = 9 × 15 × 10 × 6 

      = 9 × 90 × 10 

      = 8100 watt 

      = 8.1 kW 

 

23. A capacitor of capacitance 'C', is connected across an ac source of voltage V, given by V = V0sint. The 

displacement current between the plates of the capacitor, would then be given by: 

 fn;s x;s izR;korhZ oksYVrk Lkzksr V = V0sint ls C /kkfjrk dk /kkfj=k tqM+k gSA /kkfj=k ds IysVksa ds chp foLFkkiu /kkjk 

gksxh: 

 (1) tcos
C

V
I 0
d 


  (2) tsin

C

V
I 0
d 


  (3) tsinCVI 0d   (4) tcosCVI 0d   

Ans. (4) 
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Sol. d = 
dt

d
0


  

      = 
dt

AdE
0  

      = 

 
dt

d

v
E

Ad

c

0  

      = 
dt

dv

d

A c0  

       = 
dt

dv
C c  

        = )tsinv(
dt

d
C 0   

        = Cv0 cost 

        = v0C cost 

 

24. A nucleus with mass number 240 breaks into two fragments each of mass number 120, the binding 

energy per nucleon of unfragmented nuclei is 7.6 MeV while that of fragments is 8.5 MeV. The total gain 

in the Binding Energy-in the process is:  

 ,d 240 æO;eku la[;k dk ukfHkd] izR;sd æO;eku la[;k 120 ds nks [k.Mksa esa VwVrk gSA v[kfUMr rFkk [kfUMr ukfHkdksa 

dh cU/ku ÅtkZ izfr U;wfDy;kWu Øe'k% 7.6 esxkbysDVªkWu oksYV (MeV) rFkk 8.5 esxkbysDVªkWu oksYV gSA izØe esa dqy 

izkIr cU/ku ÅtkZ gksrh gS: 

 (1) 9.4 MeV  (2) 804 MeV  (3) 216 MeV  (4) 0.9MeV 

Ans. (3) 

Sol. X240   2y120 + Q 

  Q = BEP – BER 

      = 240 (8.5) – 240 × 7.6  MeV 

      = 240(8.5 – 7.6) MeV 

      = 240 × 0.9 MeV  = 24 × 9 MeV = 216 MeV  

 

25. The effective resistance of a parallel connection that consists of four wires of equal length, equal area of 

cross-section and same material is 0.25. What will be the effective resistance if they are connected in 

series? 

 leku yEckbZ] leku vuqizLFk dkV ds {ks=kQy rFkk leku inkFkZ ds lekUrj Øe esa tqM+s pkj rkjksa dk rqY; izfrjks/k 

0.25 gSA ;fn mudks Js.kh Øe esa tksM+ fn;k tk,] rks izhkkoh izfrjks/k D;k gksxk \ 

 (1) 0.5   (2) 1    (3) 4    (4) 0.25  

Ans. (3) 
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Sol. Let each resistance is R 

 RP = 
4

R
 = 0.25 

   R = 1 

 RS = 4R = 4(1) = 4. 

 

26. A spring is stretched by 5 cm by a force 10 N. The time period of the oscillations when a mass of 2 kg is 

suspended by it is : 

 ,d fLizax 10 N  ds cy ls 5 cm f[kaph gksrh gSA tc 2 kg æO;eku dks blls yVdk;k tkrkgS] rks nksyu dk vkorZdky 

gksrk gS: 

 (1) 6.28 s  (2) 3.14 s  (3) 0.628 s  (4) 0.0628 s 

Ans. (3) 

Sol. F = kx(.05) 

 
m

N
200

05.0

10
k   

 
K

m
2T 

200

2
2  

10

2
 = 0.628 sec 

 

27. Two charged spherical conductors of radius R1 and R2 are connected by a wire. Then the ratio of surface 

charge densities of the spheres (1/2) is : 

 R1 rFkk R2 f=kT;k ds nks vkosf'kr xksyh; pkyd ,d rkj ls tksM+ fn, tkrs gSaA xksyksa ds i`"B vkos'k ?kuRoksa (1/2) 

dk vuqikr gksrk gS  : 

 (1) 
1

2

R

R
   (2) 









1

2

R

R
  (3) 

2
2

2
1

R

R
   (4) 

2

1

R

R
 

Ans. (1) 

Sol. 
R

1
  

 
1

2

2

1

R

R





1

2

2

1

R

R





 

 

28. An electromagnetic wave of wavelength 'A' is incident on a photosensitive surface of negligible work 

function. If 'm' mass is of photoelectron emitted from the surface has de-Broglie wavelength d, then: 

 ux.; dk;Z Qyu ds izdk'k lqxzkgh lrg ij rjaxnS/;Z dh ,d fo|qrpqEcdh; rjax vkifrr gksrh gSA ;fn lrg ls 
mRlftZr 'm' æO;eku ds QksVksbysDVªkWu dh Mh&czkWXyh rjaxnS/;Z d  gks] rks: 

 (1) 2
d

h

mc2







  (2) 2
d

h

mc2







  (3) 2
d

mc

h2







  (4) 2
d

hc

m2






  

Ans. (2) 
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Sol. 


2mv
2

1hc
 

 0  given 

 2mv
2

1hc



 

 
m2

Phc 2




 

 P = 


mhc2
 

 




mhc2

h

P

h
d  

 
mc2

h

mhc2

h2 



  

 2
d

2
d

n

mc2

mc2

h



  

 

29. Column-I gives certain physical terms associated with flow of current through a metallic conductor. 

Column-II gives some mathematical relations involving electrical quantities. Match Column-I and  

Column-II with appropriate relations. 

 LrEHk-I /kkRoh; pkyd ls izokfgr /kkjk ls lEcfU/kr dqN HkkSfrd rF; O;Dr djrk gSA LrEHk-II leku xf.krh; lEcU/k 

ftuesa fo|qr jkf'k;k¡ lfEefyr gksrh gS] dks O;Dr djrk gSA LrEHk-I dks LrEHk-II  ls lgh lEcU/k }kjk lqesfyr dhft,A  

 Column LrEHk – I  Column LrEHk - II 

(A) Drift Velocity vuqxeu osx (P) 
2ne

m
 

(B) Electrical Resistivity fo|qrh; izfrjks/kdrk (Q) nevd 

(C) Relaxation period Jk¡r dky (R) 
m

eE
 

(D) Current Density /kkjk ?kuRo (S) 
J

E
 

 (1) (A)-(R),(B)-(S), (C)-(Q), (D)-(P)  (2) (A)-(R),(B)-(P), (C)-(S), (D)-(Q) 

 (3) (A)-(R),(B)-(Q), (C)-(S), (D)-(P)  (4) (A)-(R),(B)-(S), (C)-(P), (D)-(Q) 

Ans. (4) 
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Sol. (A) Vd = 
m

eE
  …….(R) 

 (B)  = 
J

E

ne

m
2




  …….(S) 

 (C) 



2ne

m
  ……..(P) 

 (D) dneV   …….(Q)  

 

30. Polar molecules are the molecules: 

 (1) acquire a dipole moment only in the presence of electric field due to displacement of charges 

 (2) acquire a dipole moment only when magnetic field is absent 

 (3) having a permanent electric dipole moment. 

 (4) having zero dipole moment. 

 /kzqoh; v.kq ,sls v.kq gksrs gSa % 

 (1) tks fo|qr {ks=k ds mifLFkfr esa gh f}/kzqo vk?kw.kZ izkIr djrs gSa] vkos'kksa ds foLFkkiu ds dkj.kA 

 (2) tks f}/kzqo vk?kw.kZ dsoy rHkh izkIr djrs gsa] tc pqEcdh; {ks=k vuqifLFkr gksrk gS 

 (3) ftuesa LFkk;h fo|qr f}/kzqo vk?kw.kZ gksrk gS  

 (4) ftudk f}/kzqo vk?kw.kZ 'kwU; gksrk gS  

Ans. (3) 

 

31. An infinitely long straight conductor carries a current of 5 A as shown. An electron is moving with a speed 

of 105 m/s parallel to the conductor. The perpendicular distance between the electron and the conductor 

is 20 cm at an instant. Calculate the magnitude of the force experienced by the electron at that instant 

 fn[kk, x;s vuar yEckbZ ds pkyd esa 5 A dh /kkjk izokfgr gksrh gSA pkyd ds lekUrj ,d bysDVªkWu 105 m/s dh pky 

ls xfr djrk gSA ,d {k.k ij bysDVªkWu rFkk pkyd ds chp yEcor~ nwjh 20 cm gSA ml {k.k ij bysDVªkWu }kjk vuqHko 

fd;s tkus okys cy ds ifjek.k dh x.kuk dhft,A  

 

 (1) N108 20   (2) N104 20   (3) N108 20   (4) N104 20  

Ans. (3) 
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Sol. F = eVB 

 = eV 
r2

0




 

 = 
2.0

5

2

104
10106.1

7
519 







  

 = 1.6 × 10–14 × 2 × 10–7 × 25 

 = 1.6 × 50 × 10–21 

 = 8 × 10–20 N 

 

32. A screw gauge gives the following readings when used to measure the diameter of a wire :  

 Main scale reading : 0 mm  

Circular scale reading : 52 divisions  

Given that 1 mm on main scale corresponds to 100 divisions on the circular scale. The diameter of the 

wire from the above data is: 

,d LØwxst tc ,d rkj ds O;kl dks ekius ds fy, iz;qDr fd;k tkrk gS] rks fuEufyf[kr ikB~;kad nsrk gS:  

 eq[; iSekus dk ikB~;kad = 0 mm  

o`Ùkh; iSekus dk ikB~;kad  = 52 [kkus 

fn;k x;k gS fd eq[; iSekus ij 1 mm, o`Ùkh; iSekus ds 100 [kkuksa ds laxr gksrk gSA mi;qZDr fn, x;s izs{k.kksa ls rkj 

dk O;kl gS % 

 (1) 0.026 cm  (2) 0.26 cm  (3) 0.052 cm  (4) 2 cm 

Ans. (3) 

Sol. R = MS + LC + CS 

 = 0 + 1/100 × 52 = 0.52 mm = 0.052 cm 

 

33. If force [F], acceleration [A] and time [T] are chosen as the fundamental physical quantities. Find the 

dimensions of energy. 

 ;fn cy [F], Roj.k [A] rFkk le; [T] dks eq[; HkkSfrd jkf'k;k¡ ekax fy;k tk;s] rks ÅtkZ dh foek Kkr dhft,A  

 (1) [F] [A] [T2]  (2) [F][A][T-1]  (3) [F] [A-1] [T]  (4) [F] [A] [T] 

Ans. (1) 

Sol. E = kFaabTc 

 M1L2T–2 = k(M1L1T–2)a (L1T–2)b Tc 

 M1L2T–2 = kMa La+b T–2a–2b+c 

 by comparision 

 a = 1   …(1) 

 a + b = 2  …(2) 

 –2a – 2b + c = –2 …(3) 
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 from (1), (2) and (3) 

  a = 1 

  b = 1 

  –2 – 2 + c = –2 

  c = +2 

  E = F1a1T2 

 

34. The number of photons per second on an average emitted by the source of monochromatic light of 

wavelength 600 nm, when it delivers the power of 3.3 x 10–3 watt will be: (h = 6.6 × 10–34Js) 

 ,do.khZ 600 uSuksehVj rjaxnS/;Z okys izdk'k ls vkSlru izfr lsd.M mRlftZr QksVkuksa dh la[;k gksxh tc og  

3.3 x 10–3 okWV 'kfDr mRlftZr djrk gS : (h = 6.6 × 10–34Js) 

 (1) 1017   (2) 1016   (3) 1015   (4) 1018 

Ans. (2) 

Sol. p = n 








hc

 

  n = 
834

73

103106.6

106103.3

hc

p










 

 = 10–3 – 7 – 8 + 34 = 1034 – 18 = 1016 

 

35. Consider the following statements (A) and (B) and identify the correct answer. 

 fuEufyf[kr dFkuksa (A) rFkk (B) ij fopkj dhft, rFkk lgh mÙkj dks fpfUgr dhft,A  

 (A) A zener diode is connected in reverse bias, when used as a voltage regulator. 

 (B) The potential barrier of p-n junction lies between 0.1 V to 0.3 V. 

 (1) (A) and (B) both are incorrect.  (2) (A) is correct and (B) is incorrect. 

 (3) (A) is incorrect but (B) is correct  (4) (A) and (B) both are correct 

 (A) ,d tsuj Mk;ksM mRØe vfHkufr esa tqM+k gS] tc foHko fu;U=kd dh rjg iz;qDr gksrk gSA  

 (B) p-n lfU/k dk foHko izkphj 0.1 V rFkk 0.3 V ds chp gksrk gSA 

 (1) (A) vkSj (B) nksuksa vlR; gSaA   (2) (A) lR; gS vkSj (B) vlR; gS 

 (3) (A) vlR; gS fdUrq (B) lR; gSA   (4) (A) rFkk (B) nksuksa lR; gSA  

Ans. (2) 

Sol. (A) is correct and (B) is incorrect. 
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Section-II 

Single Choice Type 

This section contains 15 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 15 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

36. Twenty seven drops of same size are charged at 220 V each. They combine to form a bigger drop. 

Calculate the potential of the bigger drop. 

leku lkbt dh 27 cwnsa izR;sd 220 oksYV ij vkosf'kr gksrh gSA os feydj ,d cM+h cwan cukrh gSA cM+h cwan ds foHko 

dh x.kuk dhft,A 

 (1) 1320 V  (2) 1520 V  (3) 1980 V  (4) 660V 

Ans. (3) 

Sol. 
R

kQ
V   …(1) 

 Q = nq  …(2) 

 33 r
3

4
nR

3

4
  …(3) 

        R = n1/3r 

 V = 
rn

knq
3/1

   = 







r

kq
n 3/2     = n2/3 Vsmall   = (27)2/3 Vsmall 

    = (33)2/3 Vsmall      = 32 Vsmall     = 9 Vsmall = 9 × 220 volt  = 1980 volt 

 

37. In the product 

  BvqF   

  k̂BĵBîBvq 0  

 For q = 1 and k̂6ĵ4î2v   and k̂12ĵ20î4F    

What will be the complete expression for B ? 

xq.kdQy 

  BvqF   

  k̂BĵBîBvq 0  

 esa] q = 1 rFkk  and k̂6ĵ4î2v   vkSj k̂12ĵ20î4F   ds fy, 

B  dk lEiw.kZ O;atd D;k gksxk ? 

 (1) k̂8ĵ6î6   (2) k̂6ĵ8î8    (3) k̂8ĵ6î6    (4) k̂6ĵ8î8   

Ans. (1) 
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Sol. F =  BV9


  

 BVF


  q = 1 

 

0BBB

642

k̂ĵî

k̂12ĵ20î4  = )B2(k̂)B6B2(ĵ)B6B4(î 00   

 by comparison 

  –2B = 12 …(1) 

  B = –6 

  4B0 – 6B = 4 

  4B0 – 6B = 6(–6) = 4 

  4B0 = 4 – 36 

    B0 = 8
8

32
  

  k̂8ĵ6î6B 


 

 

38. Two conducting circular loops of radii R1 and R2 are placed in the same plane with their centres coinciding. 

If R1 > > R2, the mutual inductance M between them will be directly proportional to : 

 R1 rFkk R2 f=kT;kvksa dh nks pkydh; o`Ùkh; ywi ,d ry esa ledsfUnzr j[kh gSA ;fn R1 > > R2 rks muds e/; ikjLifjd 

izsjdRo 'M' lekuqikrh gksrk gS% 

 (1) 
1

2

R

R
   (2) 

2

2
1

R

R
   (3) 

1

2
2

R

R
   (4) 

2

1

R

R
 

Ans. (3) 

Sol.  

  

 



 

1r
  = M 

2
1rB  = M








 
Mr

r2

2
1

2

0  ;   M = 
2

2
10

r2

r
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39. Three resistors having resistances r1 r2 and r3 are connected as shown in the given circuit. The ratio 
1

3

i

i

of currents in terms of resistances used in the circuit is : 

 fn, x;s ifjiFk ds vuqlkj r1, r2 rFkk r3 izfrjks/kksa okys rhu izfrjks/kd tksMs+ x;s gSA ifjiFk esa iz;qDr izfrjks/kk sa ds inksa 

esa /kkjkvksa 
1

3

i

i
 dk vuqikr gS : 

 

A i1 

r1 

i2 

i3 

r2

r3

B 

 

 (1) 
32

2

rr

r


  (2) 

21

1

rr

r


  (3) 

31

2

rr

r


  (4) 

32

1

rr

r


 

Ans. (1) 

Sol. i  
r

1
 

 i3 = 1
32

2 i
rr

r


 ;   

32

2

1

3

rr

r

i

i


  

 

40. From a circular ring of mass 'M' and radius 'R' an arc corresponding to a 90° sector is removed. The 

moment of inertia of the remaining part of the ring about an axis passing through the centre of the ring 

and perpendicular to the plane of the ring is 'K' times 'MR2,. Then the value of 'K' is: 

 'M' nzO;eku rFkk 'R' f=kT:k ds ,d o`Ùkh; NYys ls 90° lsDVj ds laxr ,d pki (vkdZ) gVk fn;k tkrk gSA cps gq, 

NYys ds Hkkx dk tM+Ro vk?kw.kZ NYys ds dsUnz ls xqtjus okyh rFkk NYys ds ry ds yEcor~ v{k ds lkis{k 'MR2' dk 

K xquk gSA 'K' dk eku gS : 

 (1) 
8

7
   (2) 

4

1
   (3) 

8

1
   (4) 

4

3
 

Ans. (4) 

Sol.  

 

 

   = MR2 
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 ' = 2RM
4

3








  = 2MR

4

3
  =  kMR2 

  K = 
4

3
 

41. A car starts from rest and accelerates at 5 m/s2. At t = 4 s, a ball is dropped out of a window by a person 

sitting in the car. What is the velocity and acceleration of the ball at t = 6 s ? (Take g = 10m/s2) 

 ,d dkj fojkekoLFkk ls izkjEHk djrh gSa rFkk 5 eh-@ls-2 ls Rofjr gksrh gSA t = 4 lsd.M ij dkj esa cSBs O;fDr }kjk ,d 

xsan f[kM+dh ds ckgj fxjk;h tkrh gSaA t = 6 lsd.M ij xsan dk osx rFkk Roj.k D;k gksrk gSa\ (fn;k gSa% g = 10 eh-@ls-2) 

 (1) 20 m/s, 0  (2) 20 2  m/s, 0  (3) 20 2  m/s, 10 m/s2 (4) 20 m/s, 5 m/s2 

Ans. (3) 

Sol.  

 t = 4 

t = at 

 

 t = at 

    = 5 × 4  = 20 m/s 

 

 

t = 6 
vx = 20 

vy = g(t) 

20 = vx 
t = 4 

 

 vy = g(t) 

     = 10 (6 – 4)  = 20 m/s 

 v = 2
y

2
x vv     = 

22 )20()20(   = 220  m/s 
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42. A uniform rod of length 200 cm and mass 500 g is balanced on a wedge placed at 40 cm mark. A mass 

of 2 kg is suspended from the rod at 20 cm and another unknown mass 'm' is suspended from the rod at 

160 cm mark as shown in the figure. Find the value of 'm' such that the rod is in equilibrium. (g = 10m/s2) 

 ,d 200 ls-eh- yEckbZ rFkk 500 xzke nzO;eku dh leku NM+ ,d ost dh 40 ls-eh- fu'kku ij larqfyr gksrh gsA ,d 

2 fd-xzk- dk nzO;eku NM+ ls 20 ls-eh- ij fuyfEcr fd;k tkrk gS rFkk nwljk vKkr nzO;eku 'm' NM+ ls 160 ls-eh- 

fu'kku ls fuyfEcr fd;k tkrk gSA Kkr dhft, 'm' dk eku ftlls NM+ larqyu voLFkk esa jgsA (g = 10m/s2) 

 

 (1) kg
3

1
  (2) kg

6

1
  (3) kg

12

1
  (4) kg

2

1
 

Ans. (3) 

Sol. 

 

  0 cm 20 cm 40 cm 100 cm 160 cm 

m 2kg

0.5kg 

 

 Mrod = 500 gm = 0.5 kg 

 
net

 Hing = 0  

 2g(2) = (0.5 g)(6) + m(12 cm) g 

         40 = 30 + m(12) × 9  m = 1/12 

 

43. A uniform conducting wire of length 12a and resistance 'R' is wound up as a current carrying coil in the 

shape of,  

(i) an equilateral triangle of side 'a'. 

(ii) a square of side 'a'. 

The magnetic dipole moments of the coil in each case respectively are : 

,d 12a yEckbZ rFkk izfrjks/k 'R' dk leku pkydh; rkj]  

(i) 'a' Hkqtk ds leckgq f=kHkqt rFkk 

(ii) 'a' Hkqtk ds oxZ ds vkdkj dh /kkjkokgh dq.Myh esa eksM+k tkrk gSA 

izR;d dq.Myh dk pqEcdh; f}/kzqo vk?kw.kZ Øe'k% gSa% 

(1) 3 Ia2 and Ia2     (2) 3 Ia2 and 4Ia2 

(3) 4 Ia2 and 3Ia2    (4) 3 Ia2 and 3 Ia2 
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(1) 3 Ia2 rFkk Ia2     (2) 3 Ia2 rFkk 4Ia2 

(3) 4 Ia2 rFkk 3Ia2    (4) 3 Ia2 rFkk 3 Ia2 

Ans. (4) 

Sol. (39) n = 12a 

         n = 4 number of turns 

 M = 









 2a

4

3
4  

     = 2a3  

  

 (49) n = 12a 

 n = 3 

 M = nA 

     = 3()a2 

 

 

44. A particle moving in a circle of radius R with a uniform speed takes a time T to complete one revolution. 

If this particle were projected with the same speed at an angle '' to the horizontal, the maximum height 

attained by it equals 4R. The angle of projection , is then given by : 

,d d.k R f=kT;k ds oÙ̀k esa leku pky ls xfr djrs gq, ,d pDdj iwjk djus esa T le; ysrk gSA 

;fn ;gh d.k {kSfrt ls mlh pky ls dks.k '' ij iz{ksfir fd;k tk, ] rks 4R ds cjkcj vf/kdre Å¡pkbZ izkIr djrk gSA 

iz{ksi.k dks.k '' fn;k tkrk gS% 

 (1) 

2/1

2

2
1

gT

R
cos 









 
      (2) 

2/1

2

2
1

gT

R
sin 









 
   

 (3) 

2/1

2

2
1

R

gT2
sin 












      (4) 

2/1

2

2
1

R

gT
cos 












   

Ans. (3) 

  

 

a a 

a 

 a 

a 

a 

a 
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Sol. t = 
v

r2
 

 v = 
T

r2
  

 H = 
g2

sinv 22 
 

 4R = 
g2

sin

T

R2
2 







 
 

 4R = 
g2

sin

T

R4 2

2

2 
 

 

2/1

2

2

R

gT2












= sin

  = sin–1 

2/1

2

2

R

gT2












   

 

45. A step down transformer connected to an ac mains supply of 220 V is made to operate at 11V, 44 W 

lamp. Ignoring power losses in the transformer, what is the current in the primary circuit? 

(1) 0.4 A  (2) 2 A   (3) 4 A   (4) 0.2 A 

 ,d vipk;h VªkUlQkeZj tks 220 oksYV eq[; izR;korhZ iwfrZ ls tqM+k gSa] 11 oksYV] 44 okV ySEi ij dk;Z djrk gSA VªkUlQkeZj 

esa 'kfDr gkfu dks ux.; ekurs gq,] izkjfEHkd ifjiFk esa /kkjk D;k gksrh gS\ 

(1) 0.4 ,fEi;j  (2) 2 ,fEi;j  (3) 4 ,fEi;j  (4) 0.2 ,fEi;j 

Ans. (4)  

Sol. 
s

p

p

s

I

I

V

V
  

 Vs Is = Vp Io 

 44 = (220) Ip 

 Ip = 
10

2

220

44
 = 0.2A 

 

  

 

 

H = 4R 

V  
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46. A point object is placed at a distance of 60 cm from a convex lens of focal length 30 cm. If a plane mirror 

were put perpendicular to the principal axis of the lens and at a distance of 40 cm from it, the final image 

would be formed at a distance of 

 30 ls-eh- Qksdl nwjh ds mÙkj ysUl ls 60 la-eh- nwjh ij ,d fcUnq oLrq mifLFkr gSA ;fn , lery niZ.k] eq[; v{k 

ds yEcor~ rFkk blls 40 ls-eh- nwjh ij j[kk tkrk gSa] rks vfUre izfrfcEc ik;k tk;sxk nwjh% 

 

 (1) 30 cm from the lens, it would be a real image 

 (2) 30 cm from the plane mirror, it would a virtual images 

 (3) 20 cm from the plane mirror, it would be a virtual image 

 (4) 20 cm from the lens, it would be a real image 

(1) 30 ls-eh- ysUl ls] ;g okLrfod izfrfcEc gksxkA 

 (2) 30 ls-eh- lery niZ.k ls] ;g vkHkklh izfrfcEc gksxkA 

 (3) 20 ls-eh lery niZ.k ls] ;g vHkklkh izfrfcEc gksxkA 

(4) 20 ls-eh- ysUl ls] ;g okLrfod izfrfcEc gksxk 

Ans. (3) 

Sol. 
30

1

60–
1–

V

1
  

 
60

1

30

1–
V

1
  

 V = + 60 If 

 For plane mirror (I2) u = + 20 

 



1

u

1

V

1
 

 



1

20

1

V

1
 

 V = –20 I2 

 For lens 
30

1

20–
1–

V

1
  

 
60

1–
6

10–
20

1–
30

1

V

1



  

 V = – 60 cm from Lens  
 From minor 20 cm  
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47. A particle of mass 'm' is projected with a velocity  = kVe(k < 1) from the surface of the earth. 

 (Ve = escape velocity) 

 The maximum height above the surface reached by the particle is 

,d 'm' nzO;eku dk d.k iF̀oh lrg ls leku osx  = kVe(k < 1) ls iz{ksfir fd;k tkrk gSA 

 (Ve = iyk;u osx) 

 d.k ds }kjk lrg ds Åij izkIr vf/kdre Å¡pkbZ gSa% 
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Ans. (3) 

Sol. 
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48. A series LCR circuit containing 5.0 H inductor, 80 F, capacitor and 40 resister is connected to 230 V 

variable of frequency ac source. The angular frequencies of the source at which power transferred to the 

circuit is half the power at the resonant angular frequency are likely to be 

 (1) 50 rad/s and 25 rad/s   (2) 46 rad/s and 54 rad/s 

 (3) 42 rad/s and 58 rad/s   (4) 25 rad/s and 75 rad/s 
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 ,d Js.kh LCR ifjiFk esa 5.0 gsujh dk izsjd] 80 ekbØks QSjkM dk /kkfj=k rFkk 40vkse dk izfrjks/kd 230 oksYV ds 

ifjorZuh; vkof̀Ùk ds izR;korhZ L=kksr ls tqM+k gSA vuqukn dks.kh; vkof̀Ùk ij 'kfDr dh vk/kh 'kfDr LFkkukUrfjr djus okys 

L=kksr dh dks.kh; vkof̀Ùk;k¡ gksxh% 

 (1) 50 jsfM;u/ls- ]25 jsfM;u/ls-   (2) 46 jsfM;u/ls-, 54 jsfM;u/ls- 

 (3) 42 jsfM;u/ls- , 58 jsfM;u/ls-   (4) 25 jsfM;u/ls-, 75 jsfM;u/ls- 

Ans. (2) 

Sol. Resonant angular frequency 

  0 = 
LC

1


610805

1


  

 0 = 50 rad/sec. 

 half power angular frequency 

  
h
 = 0 ± 

L2

R
 

 

49. For the given circuit, the input digital signals are applied at the terminals A, B and C. What would be the 

output at the terminal y ? 

 fn;s x;s ifjiFk esa] fuos'kh fMthVy flxuy fljksa A, B rFkk C ij vuqiz;qDr fd;s tkrs gSaA fljs y ij fuxZr flxuy D;k 

gksxk? 

     

 A 

B 

C 

 

 (1)   (2)  

 

 (3)  (4)  

Ans. (3) 
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Sol.  

 

 A 

B 

C 

AB 

BC  

AB + BC  

 

 

 

50. A ball of mass 0.15 kg is dropped from a height 10 m, strikes the ground and rebounds to the same 

height. The magnitude of impulse imparted to the ball is (g = 10 m/s2) nearly  

 (1) 4.2 kg m/s  (2) 2.1 kg m/s  (3) 1.4 kg m/s  (4) 0 kg m/s 

 ,d 0.15 fd-xzk- dh xsan 10 eh- dh Å¡pkbZ ls fxjk;h tkrh gSa rFkk tehu ls Vdkjkdj leku Å¡pkbZ rd mNyrh gSaA xsan 

ij yxk;s x;s vkosx dk ifjek.k gksrk gSa] yxHkx% (g = 10 eh-/ls-2) 

 (1) 4.2 fd-xzk- × eh-/ls- (2) 2.1 fd-xzk- × eh-/ls- (3) 1.4 fd-xzk- × eh-/ls- (4) 0 fd-xzk- × eh-/ls- 

Ans. (1) 

Sol. Ball rebounds to the same height 

 so velocity will be same after striking as of before striking 

 So impulse imparted is 2mv 

 P = 2mv  = 2 × m × gh2  =  2 × 0.15 × 10102   = 4.2 kg–m/s  
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PART : CHEMISTRY 
 

Section-I 

Single Choice Type 
This section contains 35 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 35 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

51. The following solutions were prepared by dissolving 10 g of glucose (C6H12O6) in 250 ml of water (P1), 10 

g of urea (CH4N2O) in 250 ml of water (P2) and 10 g of sucrose (C12H22O11) in 250 ml of water (P3). The 

right option for the decreasing order of osmotic pressure of these solutions is :  

fuEu foy;uksa dks cuk;k x;k % 

250 ml ty esa 10 g Xywdksl (C6H12O6) dks ?kksydj (P1), 250 ml ty esa 10 g ;wfj;k (CH4N2O) dks ?kksydj (P2) 

,oa 250 ml ty esa 10 g lqØksl (C12H22O11) dks ?kksydj (P3)A bu foy;uksa ds ijklj.k nkcuksa ds ?kVrs Øe dk 

lgh fodYi gS % 

 (1) P1 > P2 > P3  (2) P2 > P3 > P1  (3) P3 > P1 > P2  (4) P2 > P1 > P3  

Ans. (4)  

Sol.  = iCRT 

 C = Concentration of solution 

 i = 1 for all non-electrolyte solute 

 molar mass of solute  Concentration   Osmotic pressure  

 Osmotic pressure  
MassMolar

1
  

 Molar mass : Glucose Urea  Sucrose  

   180  60  342  g/mole  

   (P1)  (P2)  (P3)  

 Order of osmotic pressure : P2 > P1 > (P3)  

 

52. Which one among the following is the correct option for right relationship between CP and CV for me one 

mole of ideal gas ? 

 fuEu esa ls dkSulk fodYi ,d eksy vkn'kZ xSl ds fy, CP ,oa CV ds lgh laca/k dks O;Dr djrk gSA 

 (1) CP – CV = R  (2) CP = RCV  (3) CV – RCP  (4) CP + CV = R 

Ans. (1)  

Sol. CP – CV = R 

Meyer’s relation.  

 

53. The major product formed in dehydrohalogenation reaction of 2-Bromo pentane is Pent-2-ene. This 

product formation is based on ?  

 (1) Hund's Rule  (2) Hofmann Rule (3) Huckel's Rule (4) Saytzeff's Rule 

 2-czkseks isUVsu ds fogkbMªksgSykstsuhdj.k vfHkfØ;k dk eq[; mRikn isUV-2-bZu gSA mDr mRikn dk fuekZ.k vk/kkfjr gksrk 

gS %  

 (1) gq.M fu;e  (2) gkWQeSu fu;e ij (3) gdy fu;e ij (4) lsVt+sQ fu;e ij 

Ans. (4) 
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Sol. 

 Br 

  inationlimE
 Major product during dehydrohalogenation. 

 Major product formation decided by saytzeft's rule.  

 

54. An organic compound contains 78% (by wt.) carbon and remaining percentage of hydrogen. The right 

option for the empirical formula of this compound is : [Atomic wt. of C is 12, H is 1] 

 ,d dkcZfud ;kSfxd esa 78% (Hkkj }kjk) dkcZu ,oa 'ks"k izfr'kr gkbMªkstu dh ek=kk gSA bl ;kSfxd ds ewykuqikrh lw=k 

dk lgh fodYi gS % [ijek.kq Hkkj % C = 12, H = 1] 

 (1) CH2   (2) CH3   (3) CH4   (4) CH 

Ans. (2) 

Sol. Remaining part of H = 100 – 78 = 22% 

Element % by mass Mole Sample ratio 

C 78% 

12

78
 = 6.5 

5.6

5.6
 = 1 

H 22% 

1

22
 = 22 

5.6

22
 = 3.38 

  Empirical formula of organic compound = CH3 

 

55. Zr (Z = 40) and Hf (Z = 72) have similar atomic and ionic radii because of : 

 (1) diagonal relationship    (2) lanthanoid contraction    

 (3) having similar chemical properties  (4) belonging to same group 

 Zr (Z = 40) ,oa Hf (Z = 72) ds ijekf.od ,oa vk;fud f=kT;k,¡ leku gSaA bldk dkj.k gS % 

 (1) fod.kZ lEcU/k     (2) ySUFksukW;M vkdqapu 

 (3) nksuksa ds jklk;fud xq.k/keZ leku gSa  (4) nksuksa leku lewg ds lnL; gSa 

Ans. (2)  

Sol. Zr(40) and Hf (Z = 72) have similar atomic and Ionic Radius because of Lanthanide contraction.  

 

56. Which of the following reactions is the metal displacement reaction ? Choose the right option. 

 fuEu vfHkfØ;kvksa esa ls dkSu /kkrq foLFkkiu vfHkfØ;k gS \ lgh fodYi pqusaA 

 (1) Cr2O3 + 2Al  Al2O3 + 2Cr    (2) Fe + 2HCl   FeCl2 + H2  

 (3) 2Pb(NO3)2 + 2PbO + 4NO2 + O2   (4) 2KClO3   2KCl + 3O2   

Ans. (1)  

Sol. Cr2O3 + 2Al  Al2O3 + 2Cr  

 Al metal displace Cr from Cr2O3 of high temperature in Alumino thermite process. 

 

57. The structures of beryllium chloride in solid state and vapour phase, are : 

 (1) Linear in both    (2) Dimer and Linear, respectively 

 (3) Chain in both     (4) Chain and dimer, respectively 

 csjhfy;e DyksjkbM dh Bksl voLFkk ,oa ok"i voLFkk esa lajpuk,¡ gSa % 

 (1) nksuksa esa js[kh;     (2) Øe'k% f}yd ,oa js[kh; 

 (3) nksuksa esa J`a[kyk    (4) Øe'k% J`a[kyk ,oa f}yd 
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Ans. (4)  

Sol. BeCl2 (g) – Vapour phase exist as dimer   

  

 

Be 

Cl 

Cl 

Be 

sp2 sp2 

Cl Cl 

 
 BeCl2 (s) – Solid phase from chain polymer  

  

 

Be 

Cl 

Cl 

Cl 

Be 

sp3 sp3 

   
 

58. The incorrect statement among the following is : 

 (1) Most of the trivalent Lanthanoid ions are colourless in the solid state.    

 (2) Lanthanoids are good conductros of heat and electricity. 

 (3) Actinoids are highly reactive metals, especially when finely divided.    

 (4) Actinoid contraction is greater for element to element than Lanthanoid contraction. 

fuEu esa ls vlR; dFku gS % 

 (1) vf/kdka'k f=kla;ksth ySUFkSukW;M vk;u Bksl voLFkk esa jaxghu gksrs gSaA 

 (2) ySUFksukW;M Å"ek ,oa fo|qr ds vPNs pkyd gksrs gSaA 

 (3) ,fDVukW;M vR;f/kd vfHkfØ;k'khy /kkrq,¡ gSa] fo'ks"k :i ls tc os lw{e foHkkftr gSaA 

 (4) ySUFksukW;M vkdqapu dh rqyuk esa ,d rRo ls nwljs rRo dk ,fDVukW;M vkdqapu vf/kd gSA 

Ans. (1)  

Sol. (1) Most of the trivalent Lanthanoid ions are coloured both in solid state and in aqueous solution.  

 

59. Ethylene diamineteraacetate (EDTA) ion is : 

 (1) Unidentate ligand 

 (2) Bidentate ligand with two "N" donor atoms  

 (3) Tridentate ligand with three "N" donor atoms 

 (4) Hexadentate ligand with four "O" and two "N" doner atoms 

 ,fFkyhu Mkb,sehuVsVªk,slhVsV (EDTA) vk;u gS % 

 (1) ,dnarqj fyxUM 

 (2) nks "N" nkrk ijek.kqvksa ds lkFk f}narqj fyxUM  

 (3) rhu "N" nkrk ijek.kqvksa ds lkFk f=knarqj fyxUM 

 (4) pkj "O" ,oa nks "N" nkrk ijek.kqvksa ds lkFk "kV~narqj fyxUM 

Ans. (4)  

Sol. EDTA is a hexadentate ligand with 4-oxygen and two ‘N’ donar atom.  

 

 
–OOCH2C 

–OOCH2C 

N–CH2–CH2–N 
CH2COO– 

CH2COO– 
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60. A particular station of All India Radio, New Delhi, broadcasts on a frequency of 1,368 kHz (kilohertz). The 

wavelength of the electromagnetic radiation emitted by the transmitter is : 

[Speed of light, c = 3.0 × 108 ms–1] 

 vkWy bafM;k jsfM;ks] ubZ fnYyh dk ,d LVs'ku 1,368 kHz (fdyks gV~Zt) dh vko`fÙk ij izlkj.k djrk gSA lapkjd 

(VªkalehVj) }kjk mRlftZr fo|qr pqEcdh; fofdj.k dk rjaxnS/;Z gS %  

[izdk'k dk osx] c = 3.0 × 108 ms–1] 

 (1) 219.2 m  (2) 2192 m  (3) 21.92 m  (4) 219.3 m 

Ans. (4) 

Sol. Frequency   = 1368 KHz 

    = 1368 × 103 Hz 

   C = 3 × 108 m/sec. 

    = ?  

 We know that, 

   = 

C

 

   = 
3

8

101368

103




 

   = 219.3 metre. 

 

61. Statement I : Acid strength increases in the order given as HF << HCl << HBr << HI. 

 Statement II : As the size of the elements F, Cl, Br, I increases down the group, the bond strength of HF, 

HCl, HBr and HI decreases and so the acid strength increases. 

 In the light of the above statements, choose the correct answer from the options given below.  

 (1) Both Statement I and Statement II are false. 

 (2) Statement I is correct but Statement II are false.   

 (3) Statement I is incorrect but Statement II is true. 

 (4) Both Statement I and Statement II are true. 

 dFku I : vEyh; lkeF;Z fn, x, Øekuqlkj c<+rk gS HF << HCl << HBr << HI. 

 dFku II : tSls&tSls lewg esa uhps tkus ij rRo F, Cl, Br, I dk vkdkj c<+rk tkrk gS oSls&oSls HF, HCl, HBr rFkk HI 

ds ca/k dh izcyrk ?kVrh tkrh gSA vr% vEyh; lkeF;Z c<+rk tkrk gSA 

miq;ZDr dFkuksa ds izdk'k esa uhps fn, gq, fodYiksa esa ls lgh mÙkj pqusaA 

 (1) nksuksa dFku I rFkk dFku II xyr gSaA 

 (2) dFku I lgh gS ysfdu dFku II xyr gSA 

 (3) dFku I xyr gS ysfdu dFku II lgh gSA 

 (4) nksuksa dFku I rFkk dFku II lgh gSaA 

Ans. (4) 

Sol. 

 

HF M–H 
HCl M size increase  

HBr Bond strength of M–H bond 

H Acidic strength 

T 

B 
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62. Noble gases are named because of their inertness towards reactivity. Identify and incorrect statement 

about them. 

 (1) Noble gases have very high melting and boiling points  

 (2) Noble gases have weak dispersion forces.   

 (3) Noble gases have large positive values of electron gain enthalpy. 

 (4) Noble gases are sparingly soluble in water. 

 mRd`"V xSlksa dk uke mudh jklk;fud vfHkfØ;k ds izfr vfØ;rk ds dkj.k iM+k gSA muls lEcfU/kr vlR; dFku dks 

igpkusaA 

 (1) mRd`"V xSlksa ds xyukad ,oa DoFkukad vfr mPp gksrs gSaA  

 (2) mRd`"V xSlksa esa nqcZy ifj{ksi.k cy gksrs gSaA 

 (3) mRd`"V xSlksa ds bysDVªkWu yfC/k ,UFkSYih dk eku mPp /kukRed gksrk gSA 

 (4) mRd`"V xSlsa ty esa vR; foys; gSaA 

Ans. (1) 

Sol. Noble gases have very low melting and boiling points. Due to present of very weak vander wall force of 

attraction. (London force) 
 

63. The major product of the following chemical reaction is : 

 fuEu jklk;fud vfHkfØ;k esa eq[;k mRikn gS % 

 
 

CH–CH=CH2 + HBr 

CH3 

CH3 

  2256 O)COHC(
? 

 (1) 
 

CH–CH2–CH2 – O – COC6H5 

CH3 

CH3 
 (2) 

 
CH–CH–CH3 

Br 

CH3 

CH3 
    

 (3) 

 

CBr–CH2–CH3 

CH3 

CH3 
   (4) 

 

CH–CH2–CH2 –Br 

CH3 

CH3 
 

 

Ans. (4) 

Sol. 

 

CH–CH=CH2 + HBr 

CH3 

CH3 
  O)COOHC( 256  CH3–CH–CH2–CH2–Br 

CH3 

 

 This is kharas effect or peroxide effect. Which show free radical addition reaction by anti markovnikoft 

rule. 
 

64. The molar conductance of NaCl, HCl and CH3COONa at infinite dilution are 126.45, 426.16 and 91.0 S 

cm2 mol–1 respectively. The moalr conductance of CH3COOH at infinite dilution is.  

 Choose the right option for your answer. 

 NaCl, HCl ,oa CH3COONa dh vuar ruqrk ij eksyj pkydrk Øe'k% 126.45, 426.16 ,oa 91.0 S cm2 mol–1 gSA 

vuar ruqrk ij CH3COOH dh eksy pkydrk gSA  

 (1) 390.71 S cm2 mol–1   (2) 698.28 S cm2 mol–1 (3) 540.48 S cm2 mol–1 (4) 201.28 S cm2 mol–1 

Ans. (1)  
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Sol.  )NaCl(m  = 126.45 cm2 mol–1,  )HCl(m  = 426.16 cm2 mol–1,  )COOHCH(m 3
 = ? 

  )COOHCH(m 3
 =  )COONaCH(m 3

 +  )HCl(m  –  )NaCl(m  

   = 91 + 426.16 – 126.45 

   = 390.71 S cm2 mole–1 

 

65. The compound which show metamerism is : 

 e/;ko;ork iznf'kZr djus okyk ;kSfxd gS % 

 (1) C3H8O  (2) C3H6O  (3) C4H10O  (4) C5H12 

Ans. (3)  

Sol. C4H10O can show metamerism because its ether structure can make metamers. 

    
O

O 

Metamers to each other

  

 C3H12, C3H8O, C3H6O can not show metamerism because no change in alkyl group possible. 

 

66. The correct sequence of bond enthalpy of 'C–X' bond is : 

 'C–X' ca’/k dh ca/k ,UFkSYih dk lgh Øe gS % 
 (1) CH3 – F > CH3 – Cl > CH3 – Br > CH3 – I  (2) CH3 – F < CH3 – Cl > CH3 – Br > CH3 – I 

 (3) CH3 – Cl > CH3 – F > CH3 – Br > CH3 – I (4) CH3 – F < CH3 – Cl < CH3 – Br < CH3 – I 

Ans. (1) 

Sol. 

485

FCH3   > 

328

ClCH3   > 

276

BrCH3   > 

240

OCH3 

 
KJ/mol

 

 

67. Choose the correct option for graphical representation of Boyle's law, which shows a graph of pressure 

vs. Volume of a gas at different of a gas at different temperatures : 

 ckW;y ds fu;e dk lgh xzkQh; fu:i.k pqusa tks fofHkUu rkiksa ij xSl dk nkc vs. vk;ru dks iznf'kZr dj jgk gks % 

 (1) 

 

P
re

s
s
u
re

 (
P

) 

(b
a
r)

 

Volume (V)
(dm3) 



(200 K, 400 K, 600 K) 
  (2) 

  

P
re

s
s
u

re
 (

P
) 

(b
a
r)

 

Volume (V)
(dm3) 

 200 K

400 K

600 K  

 (3) 

  

P
re

s
s
u

re
 (

P
) 

(b
a
r)

 

Volume (V)
(dm3) 



200 K
400 K

600 K
  (4) 

  

P
re

s
s
u

re
 (

P
) 

(b
a
r)

 

Volume (V)
(dm3) 



600 K
400 K

200 K
 

Ans. (3)  
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Sol. For Boyles Law 

 Temperature  Constant 

 V  
P

1
  P, V 

 

 

Area under curve = PV  

and PV T  

So PV T  

 


P 

V

600 K
400 K

200 K

 
 

68. Right option of the number of tetrahedral and octahedral voids in hexagonal primitive unit cell are: 

 fdlh "kV~dks.kh; vk| ¼gsDlkxksuy fizfefVo½ ,dd dksf"Bdk esa prq"Qydh; ,oa v"VQydh; fjfDr;ksa dh la[;k gsrq 

lgh fodYi gS % 

 (1) 6, 12  (2) 2, 1   (3) 12, 6  (4) 8, 4  

Ans. (3)  

Sol. For hexagonal primitive unit cell 

 Number of effective atoms per unit cell Z = 6 

  Total no. of tetrahedral voids  = 2Z 

     = 2×6 

     = 12 

 Total no. of octahedral voids  = Z 

     = 6  

69. Given below are two statements : 

 Statement I : Aspirin and Paracetamol belong to the class of narcotic analgesics. 

 Statement II : Morphine and Heroin are non-narcotic analgesics. 

 In the light of the above statements, choose the correct answer from the options given below.  

 (1) Both Statement I and Statement II are false 

 (2) Statement I is correct but Statement II is false    

 (3) Statement I is incorrect but Statement II is true    

 (4) Both Statement I and Statement II are true 

 uhps nks dFku fn, x, gSa % 

 dFku I : ,sfLifju ,oa iSjkflVkekWy Lokid ihM+kgkjh ¼ukjdksfVd ,susYtsfld½ oxZ ds gSaA 

 dFku II : ekWQhZu ,oa gsjksbu vLokid ihM+kgkjh ¼ukWu&ukjdksfVd ,susYtsfld½ oxZ ds gSaA 

 mi;qZDr dFkuksa ds izdk'k esa uhps fn, gq, fodYiksa esa ls lgh mÙkj pqusaA  

 (1) nksuksa dFku I rFkk dFku II xyr gSaA  (2) dFku I lgh gS ysfdu dFku II xyr gSA 

 (3) dFku I xyr gS ysfdu dFku II lgh gSA  (4) nksuksa dFku I rFkk dFku II lgh gSaA 

Ans. (1)  

Sol. Aspirin and Paracetamol are non-narcotic analgesics where as Morphine and Heroin are narcotic 

analgesics. 
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70. Dihedral angle of least stable conformer of ethane is : 

 ,sFksu ds fuEure LFkk;h la:i.k esa f}ry dks.k gS % 

 (1) 180°   (2) 60°   (3) 0°   (4) 120° 

Ans. (3) 

Sol. Dihydral angel of least stable conformer (fully Eclipsed) is 0º. 

 

 H 

H 

H H 

H 

H 0º angle. 

 

 

71. Which one of the following methods can be used to obtain highly pure metal is liquid at room temperature? 

 (1) Chromatography (2) Distillation  (3) Zone refining (4) Electrolysis 

 fuEu esa ls fdl fof/k dk mi;ksx dj vR;f/kd 'kq) /kkrq dks izkIr dj ldrs gSa tks dejs ds rki ij nzo gS \ 

 (1) o.kZysf[kdh  (2) vklou  (3) eaMy ifj"dj.k (4) fo|qr vi?kVu 

Ans. (3) 

Sol. Zone refining method of purification is used for highly pure metal or semimetal Ga, Si, B, Ge, In. 

 Ga is liquid at room temperature. 

 

72. Match List-I with List-II 

 List –I      List-II 

 (a) PCl5      (i) Square pyramidal 

 (b) SF6      (ii) Trigonal planar 

 (c) BrF5      (iii) Octahedral 

 (d) BF3      (iv) Trigonal bipyramidal 

 Choose the correct answer from the options given below  

 lwph-I dk feyku lwph-II ls djsaA 

 lwph-I      lwph-II 

 (a) PCl5      (i) oxZ fijkfeMh 

 (b) SF6      (ii) f=kdks.kh; leryh; 

 (c) BrF5      (iii) v"VQydh; 

 (d) BF3      (iv) f=kdks.kh; f}fijkfeMh 

 uhps fn, x, fodYiksa esa ls lgh mÙkj pqusaA  

 (1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)     (2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)     

 (3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)   (4) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) 

Ans. (4)  
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Sol. PCl5       SF6  

 

 

Cl – P – Cl 

Cl Cl 

Cl 

      

 

S 

F 

F 

F F 

F F 

 
 bp = 5       bp = 6 

 p = 0        p = 0  

 total = 5    Trigonal bipyramidal    total = 6  sp3d2  octahedral  

 

 BF3       BrF5 

 

 

F– B 
F 

F 

      

 

Br 

F 

F F 

F F 
 

 bp = 3       bp = 5 

 p = 0       p = 1  

total = 3    Trigonal planar     total = 6  sp3d2  square pyramidal  

 So correct answer  

(a) PCl5  trigonal bipyramidal (iv)  

(b) SF6  octahedral (iii)  

(c) BrF5  square pyramidal (i)  

(d) BF3  trigonal planar (ii)  

 

73. Tritium, a radioactive isotopes of hydrogen, emits which of the following particles ? 

 (1) Alpha ()  (2) Gamma()  (3) Neutron(n)  (4) Beta(–) 

 gkbMªkstu dk ,d jsfM;ks,fDVo leLFkkfud] VªkbfV;e] fuEu esa ls fdl d.k dk mRltZu djrk gS \ 

 (1) vYQk()  (2) xkek()  (3) U;wVªkWu(n)  (4) chVk(–) 

Ans. (4)  

Sol. Tritium is a Radioactive and emit low energy – particle {t1/2 = 12.33 years}  

 

74. Which of the following polymers is prepared by addition polymerisation ? 

 (1) Nylon-66  (2) Novolac  (3) Dacron  (4) Teflon 

 fuEu cgqydksa esa ls dkSu ;ksxkRed cgqydu ds }kjk fufeZr fd;k tkrk gS\ 

 (1) ukbykWu-66  (2) uksoksysd  (3) MsØkWu  (4) Vs¶ykWu 

Ans. (4) 

Sol. Teflon is a polymer of tetra fluoroethene so it is a Homo-polymer and addition polymer. 
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75. What is the IUPAC name of the organic compound formed in the following chemical reaction ? 

 Acetone 


 
H,OH)ii(

Etherdry,MgBrHC)i(

2

52 Product  

 (1) pentan-2-ol     (2) pentan-3-ol  

 (3) 2-methyl butan-2-ol    (4) 2-methyl propan-2-ol 

 fuEu jklk;fud vfHkfØ;k esa fufeZr dkcZfud ;kSfxd dk IUPAC uke D;k gS \ 

 ,slhVksu 


 
H,OH)ii(

Etherdry,MgBrHC)i(

2

52 mRikn 

 (1) isUVsu-2-vkWy     (2) isUVsu-3-vkWy 

 (3) 2-esfFky C;wVsu-2-vkWy    (4) 2-esfFky izksisu-2-vkWy 

Ans. (3) 

Sol. 

 
 
 

O 

CH3–C–CH3 + C2H5MgBr 

OMgBr 

CH3–C–CH3 

C2H5 

OH 

CH3–C–CH3  

C2H5 

Product 

IUPAC name of product 
(2-Methyl butan-2-ol) 

 

 

76. The RBC deficiency is deficiency disease of : 

 (1) Vitamin B6  (2) Vitamin B1  (3) Vitamin B2  (4) Vitamin B12 

 RBC dh deh] ghurk tfur jksx gS % 

 (1) foVkfeu B6  (2) foVkfeu B1  (3) foVkfeu B2  (4) foVkfeu B12 

Ans. (4) 

Sol. RBC deficiency is deficiency disease of B-12. 

 

77. Identify the compound that will react with Hinsberg’s reagent to give a solid which dissolves in alkali 
 ml ;kSfxd dks igpkusa tks fgUlcxZ vfHkdeZd ds lkFk fØ;k djds Bksl cuk,xk tks {kkj esa ?kqyu'khy gS % 

 (1) 
 
CH3  NH 

CH2 CH3  
   (2) 

 
CH3  NH2  

CH2 
    

 (3)  

 
CH3  N 

CH2 CH2  
CH3  

CH3    (4) 
 
CH3  NO2 

CH2 
 

Ans. (2) 

Sol. Hinsberg reagent is used to identify amine (1º/2º/3º). If 1º amine react with Hinsberg reagent than white 

solid ppt appear which dissolve in alkali. 

 
 
 CH3 

CH2 
NH2 1º amine 

 

 

  



    NEET-2021 | DATE : 12-09-2021 | CHEMISTRY 
 

Resonance Eduventures Ltd. 
Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)  -  324005 

Ph. No.: +91-744-2777777, 2777700 | FAX No. : +91-022-39167222 

To Know more :  sms RESO at 56677 | Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in | CIN : U80302RJ2007PLC024029 

 

This solution was download from Resonance NEET 2021 Solution portal  
 

 

PAGE # 40 

7340010333

78. Among the following alkaline earth metal halides one which is covalent and soluble in organic solvents 

is: 

 (1) Strontium chloride     (2) Magnesium chloride  

 (3) Beryllium chloride    (4) Calcium chloride 

 fuEu {kkjh; e`nk /kkrq gSykbMksa esa ls dkSu lgla;ksth ,oa dkcZfud foyk;dksa esa ?kqyu'khy gS \ 

 (1) LVªkWfU'k;u DyksjkbM    (2) eSXuhf'k;e DyksjkbM 

 (3) csjhfy;e DyksjkbM    (4) dSfY'k;e DyksjkbM 

Ans. (3) 

Sol. 

 

Size of cation   

Covalent Char.  
BeCl2 

MgCl2 

CaCl2 
SrCl2  

T 

B 

 

 So BeCl2 has covalent nature so it is soluble in organic solvent.  

 

79. The correct structure of 2,6-Dimethyl-dec-4-ene is :  

 2,6-MkbesfFky-Msd-4-bZu dh lgh lajpuk gS %  

 (1) 

 

 (2) 

 

 (3) 

 

  (4) 

 

 

Ans. (4) 

Sol. Correct structure of 2,6-Dimethyl dec-4-ene 

 

 
 

5 

4 

3 
2 

1 

6 
7 

8 
9 

10  

 

80. The correct option for the number of body centred unit cells in all 14 types of Bravais lattice unit cells is : 

 dqy 14 izdkj ds czsos tkydksa dh var% dsfUnzr ,dd dksf"Bdkvksa dh la[;k ds fy, lgh fodYi gS % 

 (1) 5   (2) 2    (3) 3   (4) 7 

Ans. (3) 

Sol. 3 body center found in cubic, tetragonal and orthorhombic in 14 type of bravis lattice. 

 

81. The right option for the statement “Tyndall effect is exhibited by”………is :  

 (1) Glucose solution (2) Starch solution  (3) Urea solution (4) NaCl solution  

 “fVUMy izHkko fuEu ds }kjk iznf'kZr fd;k tkrk gSA” lgh fodYi pqusaA  

 (1) Xywdksl foy;u (2) LVkpZ fody;u (3) ;wfj;k foy;u  (4) NaCl foy;u 

Ans. (2)  

Sol. Starch solution is a type of colloidal solution and other are true solution so Starch solution shows Tyndall 

effect.  
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82. The pKb of dimethylamine and pKa of acetic acid are 3.27 and 4.77 respectively at T(K). The correct 

option for the pH of dimethylammonium acetate solution is : 

 T(K) ij MkbesfFky,sehu dk pKb ,oa ,slhfVd vEy dk pKa dk eku Øe'k% 3.27 ,oa 4.77 gSA MkbesfFkyveksfu;e 

,lhVsV foy;u ds pH dk lgh fodYi gS % 

 (1) 5.50   (2) 7.75   (3) 6.25   (4) 8.50  

Ans. (2)  

Sol. pKb = 3.27 (dimethylamine) 

 pKb = 4.77 (acetic acid) 

for dimethyl ammonium acetate it is an (WA + WB) salt. 

 pH = 7 + 
2

1
pKa – 

2

1
pKb  

 = 7 + 
2

1
 × 4.77 – 

2

1
 × 3.27  

 pH = 7 + 2.385 – 1.635 

 pH = 7.75 

 

83. BF3 is planar and electron deficient compound. Hybridization and number of electrons around the central 

atom, respectively are : 

 (1) sp3 and 6  (2) sp2 and 6   (3) sp3 and 8  (4) sp3 and 4  

 BF3 ,d leryh; ,oa bysDVªkWu U;wu ;kSfxd gSA dsUnzh; ijek.kq dk ladj.k ,oa mlds pkjksa vksj bysDVªkWuksa dh la[;k 

gS] Øe'k% % 

 (1) sp3 rFkk 6  (2) sp2 rFkk 6   (3) sp3 rFkk 8  (4) sp3 rFkk 4  

Ans. (2)  

Sol. BF3  

 F 

F–B 
F 

(sp2 and 6e–) 

   

 Hybridisation of B is sp2 and 6e– around central atom.  

 

84. The maximum temperature that can be achieved in blast furnace is : 

 (1) upto 2200 K  (2) upto 1900 K   (3) upto 5000 K  (4) upto 1200 K  

 okR;k Hkêh esa izkIr fd;k tk ldus okyk vf/kdre rkieku gS % 

 (1) 2200 K rd  (2) 1900 K rd  (3) 5000 K rd  (4) 1200 K rd 

Ans. (1)  

Sol. In blast furnace highest temperature 2170 K (2200k) is found in lower part.   
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85. For a reaction A  B enthalpy of reaction –4.2 kJ mol–1 and enthalpy of activation is 9.6 kJ mol–1. The 

correct potential energy profile for the reaction is shown in option. 

 fdlh vfHkfØ;k A  B ds fy, vfHkfØ;k dh ,UFkSYih –4.2 kJ mol–1 ,oa lfØ;.k dh ,UFkSYih 9.6 kJ mol–1 gSA 

vfHkfØ;k ds fy, lgh fLFkfrt ÅtkZ vkjs[k fuEu fodYi esa iznf'kZr fd;k x;k gS %  

 (1) 

 

A  


PE 

B 

Reaction Progress 

  (2)  

 

A  


PE 

B 

Reaction Progress 

  

 (3) 

 

A  


PE 

B 

Reaction Progress 

  (4)  

 

A  


PE 

B 

Reaction Progress 

  

Ans. (1)  

Sol. A  B reaction H = –4.2 kJ/mol 

 It is an exothermic reaction for this Energy of Reactant > Energy of product  

 

 

A  




B 

9.6 

kJ/mol 

–4.2 kJ/mol 

   

 Ea is approx. double ofH reaction.  
 

 

Section-II 

Single Choice Type 
This section contains 15 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 15 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 
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86. Match List – I with List – II.  

 List – I        List – II  

 (a) 2SO2(g) + O2(g)  2SO3(g)    (i) Acid rain  

 (b) HOCl(g)  h  HO + Cl      (ii) Smog  

 (c) CaCO3 + H2SO4  CaSO4 + H2O + CO2    (iii) Ozone depletion  

 (d)NO2(g)  h  NO(g) + O(g)    (iv) Tropospheric pollution  

 Choose the correct answer from the options given below :  

 

 lwph– I dk feyku lwph – II ls djsaA  

 lwph – I        lwph – II  

 (a) 2SO2(g) + O2(g)  2SO3(g)    (i) vEy o"kkZ  

 (b) HOCl(g)  h  HO + Cl      (ii) /kwe&dksgjk  

 (c) CaCO3 + H2SO4  CaSO4 + H2O + CO2    (iii) vkstksu {kj.k  

 (d)NO2(g)  h  NO(g) + O(g)    (iv) {kksHkeaMyh; iznw"k.k  

 uhps fn, x, fodYiksa esa ls lgh mÙkj pqusaA  

 

 (1) (a) – (ii), (b) – (iii), (c) – (iv), (d) – (i)    (2) (a) – (iv), (b) – (iii), (c) – (i), (d) – (ii)  

 (3) (a) – (iii), (b) – (ii), (c) – (iv), (d) – (i)   (4) (a) – (i), (b) – (ii), (c) – (iii), (d) – (iv)  

Ans. (2) 

Sol. (a) 2SO2(g) + O2(g)  2SO3(g)    (iv) Tropospheric pollution  

 (b) HOCl(g)  h
 HO + Cl      (iii) Ozone depletion 

 (c) CaCO3 + H2SO4  CaSO4 + H2O + CO2     (i) Acid rain 

 (d)NO2(g)  h
 NO(g) + O(g)   (ii) Smog  

 

87. Match List – I with List – II.  

 List – I        List – II  

 (a) 
 CuCl/AlCl.Anhyd

HCl,CO

3

       (i) Hell-Volhard-Zelinsky reaction  

 (b) 

 

R–C–CH3+NaOX 

O

    (ii) Gattermann-Koch reaction  

 (c) R–CH2–OH + R’COOH   42SOH.Conc
   (iii) Haloform reaction   

 (d) R–CH2COOH 
OH)ii(

PdRe/X)i(

2

2        (iv) Esterification  

 Choose the correct answer from the options given below.  
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 lwph– I dk feyku lwph – II ls djsaA  

 lwph – I        lwph – II  

 (a) 
 CuCl/AlCl

HCl,CO

3futZy
       (i) gsy&QksykMZ&tsfyaLdh vfHkfØ;k  

 (b) 

 

R–C–CH3+NaOX 

O

    (ii) xkVjeku&dks[k vfHkfØ;k  

 (c) R–CH2–OH + R’COOH   42SOH-lkUnz
   (iii) gSyksQkeZ vfHkfØ;k  

 (d) R–CH2COOH 
OH)ii(

P/X)i(

2

2   yky
     (iv) ,LVjhdj.k  

 uhps fn, x, fodYiksa esa ls lgh fodYi pqusaA  

 

(1) (a) – (iii), (b) – (ii), (c) – (i), (d) – (iv)   (2) (a) – (i), (b) – (iv), (c) – (iii), (d) – (ii)  

(3) (a) – (ii), (b) – (iii), (c) – (iv), (d) – (i)   (4) (a) – (iv), (b) – (i), (c) – (ii), (d) – (iii)  

Ans. (3) 

Sol. (1)

 

+ CO 
HCl 

 Gatterman- Koch reaction (ii) 

 (2) 

 O 

R–C–CH3 + NaOX Haloform reaction (iii) 

 (3)
 
 R–CH2–OH + R'COOH  Esterification (iv) 

 (4) 
 
R–CH2 –COOH 

(1) X2/Red p 

(2) H2O 
H.V.Z. reaction (i) 

 

88. The intermediate compound ‘X’ in the following chemical reaction is :  
 fuEu jklk;fud vfHkfØ;k esa e/;orhZ mRikn ‘X’ gS %  

 
 CH3 

 + CrO2Cl2   2CS
 X  

OH3  

 

C 

H 

O 

 

 

 (1) 
 CH(OCOCH3)2 

    (2) 

 
CH 

Cl 

Cl   

 (3) 

 
CH 

Cl 

H     (4) 
 CH(OCrOHCl2)2 

 

Ans. (4) 

Sol. 
 CH3 

Toluene 

+ CrO2Cl2 
CS2 

CH(OCrOHCl2)2 

Chromium complex 

H3O+
 

CHO 

Benzaldehyde 
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89. Which of the following molecules is non-polar in nature ?  

 fn, x, v.kqvksa esa ls dkSu v/kqzoh; izd`fr dk gS \  

 (1) CH2O   (2) SbCl5  (3) NO2   (4) POCl3  

Ans. (2)  

Sol. SbCl5 is non-polar  

 Hybridisation sp3d  

 Geometry  Trigonal bipyramidal which is symmetrical geometry so dipole moment is zero.  

So it is non-polar.  

 

Cl 

Cl 

Cl 
Sb 

Cl 

Cl 

 

 

90. CH3CH2COO–Na+ 
Heat

?NaOH   
 CH3CH3 + Na2CO3.  

 Consider the above reaction and identify the missing reagent/chemical.   

 (1) Red Phosphorus  (2) CaO   (3) DIBAL-H  (4) B2H6  

 CH3CH2COO–Na+ 
xeZ

   ?NaOH
 CH3CH3 + Na2CO3.  

 Mi;qZDr vfHkfØ;k esa vuqifLFkr vfHkdeZd@jlk;u dks igpkusaaA  

 (1) yky QkLQksjl (2) CaO   (3) DIBAL-H  (4) B2H6  

Ans. (2) 

Sol. This is sodalime decarboxylation so with NaOH, CaO is required. 

 

91. In which one of the following arrangements the given sequence is not strictly according to the properties 

indicated against it ?  

 (1) H2O < H2S < H2Se < H2Te  :  Increasing pKa values  

 (2) NH3 < PH3 < AsH3 < SbH3  :  Increasing acidic character  

 (3) CO2 < SiO2 < SnO2 < PbO2  :  Increasing oxidizing power  

 (4) HF < HCl < HBr < H  :  Increasing acidic strength  

 fuEu esa ls fdl O;oLFkk esa] muds lkeus crk, x, xq.k/keZ ds vuqlkj] mfpr Øe ugha fn;k x;k gS \  

 (1) H2O < H2S < H2Se < H2Te  :  pKa ekuksa ds c<+rs Øe esa  

 (2) NH3 < PH3 < AsH3 < SbH3  :  vEyh;’ y{k.k ds c<+rs Øe esa  
 (3) CO2 < SiO2 < SnO2 < PbO2  :  vkWDlhdj.k {kerk ds c<+rs Øe esa  

 (4) HF < HCl < HBr < H  :  vEyh;’ lkeF;Z ds c<+rs Øe esa 

Ans. (1)  

Sol. Acidic strength of Hydra acid increase from top to bottom in a group of p-block elements and pKa value 

decrease.  

 So, pKa = H2O > H2S > H2Se > H2Te  
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92. From the following pairs of ions which one is not an iso-electronic pair ?  

 vk;uksa ds fuEufyf[kr ;qXeksa esa ls dkSu ,d lebysDVªkWfud ;qXe ugha gS \  

 (1) Na+, Mg2+  (2) Mn2+, Fe3+  (3) Fe2+, Mn2+  (4) O2–, F–  

Ans. (3)  

Sol.  

Fe+2  

Z = 26 

No. of e– = 24  

Mn+2 

25 

23   

O–2  

No. of e– = 10 

F–     

10 

Na+  

No. of e– = 10  

Mg+2 

10    

Mn+2  

No. of e– = 23  

Fe+3 

23    

 Ans. Fe+2 and Mn+2 are not Iso-electronic   

 

93. The reagent ‘R’ in the given sequence of chemical reaction is :  
 jklk;fud vfHkfØ;k ds fn, Øe esa vfHkdeZd ‘R’ gS %  

 

 NH2 

Br Br 

Br 

 
Cº5.0

HCl.NaNO2    

 N2
+Cl– 

Br Br 

Br 

 R  

 Br Br 

Br 

 

 (1) CH3CH2OH  (2) H   (3) CuCN/KCN  (4) H2O  

Ans. (1) 

Sol. Reagent R is either C2H5OH or H3PO2 which reduce 
ClPhN2 into Benzene.  

 

94. Match List – I with List – II.  

 List – I        List – II  

 (a) [Fe(CN)6]3–      (i) 5.92 BM  

 (b) [Fe(H2O)6]3+      (ii) 0 BM 

 (c) [Fe(CN)6]4–      (iii) 4.90 BM 

 (d) [Fe(H2O)6]2+      (iv) 1.73 BM  

 Choose the correct answer from the options given below.  
 

 lwph– I dk feyku lwph – II ls djsaA 

 lwph – I        lwph – II  

 (a) [Fe(CN)6]3–      (i) 5.92 BM  

 (b) [Fe(H2O)6]3+      (ii) 0 BM 

 (c) [Fe(CN)6]4–      (iii) 4.90 BM 

 (d) [Fe(H2O)6]2+      (iv) 1.73 BM  

 uhps fn, x, fodYiksa esa ls lgh mÙkj pqusaA  
 

(1) (a) – (ii), (b) – (iv), (c) – (iii), (d) – (i)  (2) (a) – (i), (b) – (iii), (c) – (iv), (d) – (ii)  

(3) (a) – (iv), (b) – (i), (c) – (ii), (d) – (iii)  (4) (a) – (iv), (b) – (ii), (c) – (i), (d) – (iii)  
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Ans. (3)  

Sol. (A) [Fe(CN)6]3–   Fe3+  3d5    CN–    strong ligand 

    n=1  = 1.73 BM 

 (B) [Fe(H2O)6]3+   Fe3+  3d5    H2O    weak ligand 

    n=5  = 5.92 BM 

 (C) [Fe(CN)6]4–   Fe2+  3d6    CN–    strong ligand 

    n=0  = 0 

 (D) [Fe(H2O)6]2+  Fe2+  3d6    H2O    weak ligand 

    n=4  = 4.9 BM 

 

95. The correct option for the value of vapour pressure of a solution at 45ºC with benzene to octane in molar 

ratio 3 : 2 is :  

 [At 45ºC vapour pressure of benzene is 280 mm Hg and that of octane is 420 mm Hg. Assume Ideal gas]  

 (1) 168 mm of Hg  (2) 336 mm of Hg (3) 350 mm of Hg (4) 160 mm of Hg  

 

95. 45ºC ij ,d foy;u ftlesa csUthu ,oa vkWDVsu dk eksyj vuqikr 3 : 2 gks] mlds ok"i nkc ds eku dk lgh fodYi 

gS%  

 (1) 168 mm of Hg  (2) 336 mm of Hg (3) 350 mm of Hg (4) 160 mm of Hg  

 [45ºC ij csUthu dk ok"i nkc 280 mm Hg rFkk vkWDVsu dk ok"i nkc 420 mm Hg gSA vkn'kZ xSl ekusaA]  

 (1) 168 mm Hg   (2) 336 mm Hg  (3) 350 mm Hg  (4) 160 mm Hg  

Ans. (2)   

Sol. PºA for benzene = 280 mm of Hg  

 PºB for octane = 420 mm of Hg 

2

3

n

n

B

A      

According to Raoult’s law  ss 

P = B
o
BA

o
A XPXP   

   = 280 × 
5

3
+ 420 × 

5

2
 = 

5

840840
 

   = 
5

1680
 = 336 mm Hg 

 

96. The slope of Arrhenius Plot 







T

1
s/vkln  of first order reaction is –5 × 103 K. The value of Ea of the 

reaction is. Choose the correct option for your answer. [Given R = 8.314 JK–1 mol–1]  

 fdlh izFke dksfV dh vfHkfØ;k ds fy, vkjsZfu;l lehdj.k 







T

1
s/vkln  ds <ky dk eku–5 × 103 K gSA vfHkfØ;k 

ds fy, Ea dk eku gSA lgh fodYi pqusaA [fn;k x;k gS % R = 8.314 JK–1 mol–1]  

 (1) 83.0 kJ mol–1  (2) 166 kJ mol–1  (3) –83 kJ mol–1  (4) 41.5 kJ mol–1  

Ans. (4)   

Sol. nk = 
RT

E– a + n A 
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slope = 
R

E– a  

–5 × 103 = 
R

E– a  

Ea = 5 × 103 × R 

= 5 × 103 × 8.314 

= 41.57 × 103 J 

= 41.57 kJ mol–1 

 

97. For irreversible expansion of an ideal gas under isothermal condition, the correct option is :  

 lerkih; ifjfLFkfr;ksa esa fdlh vkn'kZ xSl ds vuqRØe.kh; izlj.k ds fy, lgh fodYi gS %  

 (1) U  0, Stotal  0  (2)U = 0, Stotal  0 (3)U  0, Stotal = 0 (4)U = 0, Stotal = 0  

Ans. (2)  

Sol. For irreversible isothermal expansion as temperature constant  

 U = 
2

f
nRT = 0  

 Stotal > 0 for irreversible process   

 U = 0,Stotal  0  

 

98. Choose the correct option for the total pressure (in atm.) in a mixture of 4 g O2 and 2 g H2 confined in a 

total volume of one litre at 0ºC is :  [Given R = 0.082 L atm mol–1 K–1, T = 273 K]   

 1 yhVj vk;ru esa 0ºC ij ,d fefJ.k ftlesa 4 g O2 ,oa 2 g H2 yh xbZ gks] mldk dqy nkc (atm. esa) ds lgh fodYi 

dks pqusaA  [fn;k x;k gS % R = 0.082 L atm mol–1 K–1, T = 273 K]  

 (1) 2.602   (2) 25.18   (3) 26.02   (4) 2.518  

Ans. (2) 

Sol. No. of mole of H2 = 
2

2
= 1 mole 

 No. of mole of O2 = 
8

1

32

4
 mole 

 Total no. of mole of gaseous = 1 + 
8

9

8

1
  mole 

 Acc to PV = nRT 

 
1

273082.0

8

9

V

nRT
P


  

 P = 25.18 atm. 
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99. The product formed in the following chemical reaction is :  

 fuEu jklk;fud vfHkfØ;’k esa fufeZr mRikn gS %  

 

 

CH2–C–OCH3 

O O 

CH3 

 
OHHC

NaBH

52

4   ?    

 (1) 

 

CH2–CH2–OH 

OH 

CH3 

    (2)

 

 

CH2–C–CH3 

H OH 

CH3 

OH 

  

 (3) 

 

CH2–C–OCH3 

O OH 

CH3 

    (4) 

 

CH2–C–OCH3 

H OH 

CH3 

OH 
 

Ans. (3) 

Sol. NaBH4 reduce only Ketone. Not ester. 

 

 OH 

CH2–C–OCH3 

CH3 

O 

 

 Given in option (1) 

 

 

100. The molar conductivity of 0.007 M acetic acid is 20 S cm2 mol–1. What is the dissociation constant of 

acetic acid ? Choose the correct option.  [ º
H  = 350 S cm2 mol–1 ; º

COOCH –
3

  = 50 S cm2 mol–1]  

 0.007 M ,lhfVd vEy dh eksyj pkydrk 20 S cm2 mol–1 gSA ,lhfVd vEy dk fo;kstu fLFkjkad D;k gS \ lgh 

fodYi pqusaA [ º
H  = 350 S cm2 mol–1 ; º

COOCH –
3

  = 50 S cm2 mol–1]  

 (1) 2.50 × 10–4 mol L–1     (2) 1.75 × 10–5 mol L–1  

 (3) 2.50 × 10–5 mol L–1    (4) 1.75 × 10–4 mol L–1  

Ans. (2)  

Sol.  = 



M

C
M  =  



 –
3COOCH)H(

C
M  = 

50350

20


 

     = 
20

1

400

20
  

 Ka = 



–1

C 2

  

 Ka = C2  

 = 0.007 × 

2

20

1








 = 

400

107 3–
 

 Ka = 
4

7
× 10–5 

 = 1.75 × 10–5 mol/lt  
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PART : BIOLOGY 

 

Section - A (Biology : Botany) 
 

Section-I 

Single Choice Type 
This section contains 35 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 35 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

 
 

101.  Amensalism can be represented as : 

 (1) Species A (+) ;Species B (+)   (2) Species A ( - ) ; Species B (- ) 

 (3) Species A (+) ;Species B (0)   (4) Species A (- ) ; Species B(0)  

 vUrjtkfr; ijthfodk dks fdl izdkj fu:fir fd;k tk ldrk gS\ 

 (1) tkfr A (+) ;tkfr B (+)    (2) tkfr A ( - ) ; tkfr B (- ) 

 (3) tkfr A (+) ;tkfr B (0)    (4) tkfr A (- ) ; tkfr B(0) 

Ans. (4) 

 

102.  In the equation GPP - R = NPP  R represents: 

(1) Retardation factor    (2) Environment factor 

(3) Respiration losses    (4) Radiant energy 

lehdj.k GPP - R = NPP esa R fdls fu:fir djrk gS\  

(1) eand dkjd     (2) i;kZoj.k dkjd  

(3) 'oluh; {kfr     (4) fofdj.k ÅtkZ 

Ans. (3) 

 

103.  The plant hormone used to destroy weeds in a field is: 

(1) NAA   (2) 2,4-D  (3) IBA   (4) IAA 

,d [ksr esa ?kklikl dh lekIr djus ds fy, dkSulk iknd gkjeksu mi;ksx essa yk;k tkrk gS\ 

(1) ,u , ,   (2) 2,4-Mh  (3) vkbZ ch ,  (4) vkbZ , ,  

Ans. (2) 
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104.  Which of the following is an incorrect statement? 

(1) Microbodies are present both in plant and animal cells. 

(2) The perinuclear space forms a barrier between the materials present inside the 

nucleus and that of the cytoplasm. 

(3) Nuclear pores act as passages for proteins and RNA molecules in both directions 

between nucleus and cytoplasm. 

(4) Mature sieve tube elements possess a conspicuous nucleus and usual cytoplasmic 

organelles. 

fuEufyf[kr esa ls dkSulk dFku xyr gS\ 

(1) lw{edk;] ikniksa vkSj tUrqvksa nksuksa essa ik;s tkrh gS A 

(2) ifjdsUnzdh vodk'k] dsUnzd ds vUnj mifLFkr inkFkksZ vkSj dksf'kdknzO; esa mifLFkr inkFkksZ ds chp vojks/k dk 

dke djrk gSA 

(3) dsUnzd fNnz] dsUnzd vkSj dksf'kdnzO; ds chp nksuksa fn'kkvksa esa izksVhu vkSj vkj ,u , v.kqvksa ds fy, ,d iFk dh 

Hkk¡fr dk;Z djrs gSA  

(4) ifjiDo pkyuh ufydk rRoksa esa ,d Li"V dsUnzd vkSj lk/kkj.k dksf'kdknzO; mi;ksx gkars gSA 

Ans. (4) 

 

105. Which of the following is not an application of PCR (polymerase Chain Reaction) ?  

 (1) Gene amplification    (2) Purification of isolated protein 

 (3) Detection of gene mutation   (4) Molecular diagnosis 

 fuEufyf[kr esa ls dkSu ,d ih lh vkj ¼ikfyejst Ja[kyk vfHkfØ;k½ dk ,d vuqiz;ksx ugh gS\  

 (1) thu izo/kZu     (2) i`Fkd fd;s x;s izksVhu dk 'kqf}dj.k 

 (3) thu mRifjorZu dk irk yxkuk   (4) vk.kfod funku  

Ans. (2) 

 

106.  Which of the following are not secondary metabolite in plants?   

(1) Amino acids, glucose   (2) Vinblastin, curcumin  

(3) Rubber, gums     (4) Morphine, codeine 

fuEufyf[kr esa ls dkSu ikniksa esa f”}rh;d mikip;t ugha gS\ 

(1) ,ehuksa vEy Xywdkst    (2) fouCysLVhu] djD;wfeu  

(3) jcj] xksan      (4) ekQhZu] dksMhu 

Ans. (1) 
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107.  Match List - I with List - II. 

List - I List - II 

(a) Cristae (i) Primary constriction in chromosome 

(b) Thylakoids (ii) Disc-shaped sacs in Golgi apparatus 

(c) Centromere (iii) Infoldings in mitochondria  

(d) Cisternae (iv) Flattened membranous sacs in 

stroma of plastids  

lwph - I with lwph - II. 

lwph - I lwph - II 

(a) fØLVh  (i) xq.klw=k esa izkFkfed ladh.kZu  

(b) Fkk;ysdkW;M  (ii) xkWYth midj.k esa fMLd vkdkj dh FkSfy;k¡ 

(c) xq.klw=khfcUnw (iii) lw=kdf.kdk essa vuqoZfydk  

(d) flLVuhZ  (iv) yod dh ihfBdk esa piVh f>Yyhuwek FkSfy;ka 

Choose the correct answer from the options given below.  

uhps fn, x;s fodYiksa esa ls lgh mÙkj pqfu;sA 

(a)  (b)  (c)  (d) 

(1) (i)  (iv)  (iii)  (ii) 

(2) (iii)  (iv)  (i)  (ii) 

(3) (ii)  (iii)  (iv)  (i) 

(4) (iv)  (iii)  (ii)  (i) 

Ans. (2) 

 

108.  DNA strands on a gel stained with ethidium bromide when viewed under UV radiation, appear 

(1) Bright orange bands    (2) Dark red bands 

(3) Bright blue bands    (4) Yellow bands 

tsy ij j[ks] ,fFkfM;e czksekbM ls vfHkjaftr Mh ,u , jTtqdks dks tc ;q oh fofdj.kksa vUrxZr ns[kk tkrk gS rc os 

dSls fn[krs gS\  

(1) pedhyh ukjaxh ifV~;’ka    (2) xgjh yky ifV~;’ka  
(3) pedhyh uhyh ifV~;’ka    (4) ihyh ifV~;’ka 

Ans. (1)  
 

109.  The production of gametes by the parents, formation of zygotes, the F1 and F2 plants, can be 

understood from a diagram called: 

(1) Punch square (2) Punnett square (3) Net square  (4) Bullet square 

tudks }kjk ;qXedks dk mRiknu] ;qXet dk fuekZ.k vkSj F1 vkSj F2 ikniks dks fuEufyf[kr esa ls fdl fp=k }kjk le>k  

tk ldrk gS\ 

(1) iap oxZ  (2) iusV oxZ  (3) usV oxZ  (4) cqysV oxZ 

Ans. (2) 
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110. The first stable product of CO2 fixation in sorghum is 

 (1) Oxaloacetic acid    (2) Succinic acid 

 (3) Phosphoglyceric acid   (4) Pyruvic acid  

 lkSj/ke esa CO2 fLFkjhdj.k essa igyk LFkk;h mRikn D;k gSA 

 (1) vkDtsyks,flfVd vEy    (2) lDlhfud vEy 

 (3) QkLQksXyhlfjd vEy    (4) ikb:fod vEy 

Ans. (1) 

 

111.  Inspite of interspecific competition in nature, which mechanism the competing species might 

have evolved for their survival? 

(1) Competitive release    (2) Mutualism 

(3) Predation     (4) Resource partitioning 

izØfr esa varjtkrh; izfrLi/kkZ ds ckotwn] izfrLi/kkZ djus okyh tkfr;ksa us viuh mÙkjthfodk ds fy, dkSu lh fof/k 

fodkl fd;k gksxk\ 

(1) Li/kkZ fueqZDr      (2) lgksidkfjrk  

(3) Hk{k.k      (4) lalk/ku foHkktu  

Ans. (4) 

 

112.  Which of the following statements is not correct?  

(1) Pyramid of biomass in sea is generally upright. 

(2) Pyramid of energy is always upright. 

(3) Pyramid of numbers in a grassland ecosystem is upright. 

(4) Pyramid of biomass in sea is generally inverted. 

fuEufyf[ke esa dkSu lk dFku lgh gS\  

(1) leqnz esa tSoHkkj dk fijsfeM lk/kkj.kr;k lh/kk gksrk gSA  

(2) ÅtkZ dk fijsfeM lnSo lh/kk gksrk gSA 

(3) ,d ?kkl Hkwfe ifjrU=k esa la[;k dk fijsfeM lh/kk gksrk gsA  

(4) leqnz esa tSoHkkj dk fijsfeM lk/kkj.kr;k mYVk gksrk gSA 

Ans. (1) 

 

113.  The site of perception of light in plants during photoperiodism is : 

(1) Stem  (2) Axillary bud  (4) Leaf   (4) Shoot apex 

izdk'kdkfydrk ds nkSjku ikniksa esa izdk'k ds voxeu dk LFkku dkSu lk gS\ 

(1) ruk   (2) d{kh; dfydk  (4) iÙkh    (4) izjksg 'kh"kZ 

Ans. (3)  
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114.  Match List – I with List - II. 

 lwph – I with lwph - II. 

List - I List - II 

(a) Lenticels (i) Phellogen 

(b) Cork cambium (ii) Suberin deposition 

(c) Secondary cortex (iii) Exchange of gases 

(d) Cork (iv) Phelloderm 

Choose the correct answer from the options given below. 

uhps fn;s x;s fodYiksa esa lgh mÙkj pqfu;sA 

lwph - I lwph - II 
(a) Okkr ja/kz  (i) dkxtu 

(b) dkdZ dSfEc;e (ii) lqcsfju fu{ksi.k 
(c) f}rh;d oYdqV  (iii) xSlksa dk vknku&iznku 

(d) dkx (iv) dkx&vLrj 
 (a)  (b)  (c)  (d) 

(1) (iii)  (i)  (iv)  (ii) 

(2) (ii)  (iii)  (iv)  (i) 

(3) (iv)  (ii)  (i)  (iii) 

(4) (iv)  (i)  (iii)  (ii) 

Ans. (1)  

 

115.  Match List - I with List - II. 

 lwph – I with lwph - II. 

 List - I List - II 

(a) Protoplast fusion (i) Totipotency 

(b) Plant tissue culture (ii) Pomato 

(c) Meristem culture (iii) Somaclones 

(d) Micropropagation (iv) Virus free plants 

Choose the correct answer from the options given below. 

uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu;sA 

 List - I List - II 

(a) thonzO; (i) iw.kZ'kDrrk  

(b) ikni mÙkd lao/kZu (ii) iksesVks 

(c) esfjLVse lao/kZu (iii) lksekDyksu 

(d) lw{eizo/kZu (iv) fo"kk.kq eqDr ikni 

 (a)  (b)  (c)  (d) 

(1) (ii)  (i)  (iv)  (iii) 

(2) (iii)  (iv)  (i)  (ii) 

(3) (iv)  (iii)  (ii)  (i) 

(4) (iii)  (iv)  (ii)  (i) 

Ans. (1)  
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116.  Match List - I with List - II. 

 lwph – I with lwph - II. 

 List - I List - II 

(a) Cohesion (i) More attraction in liquid phase 

(b) Adhesion (ii) Mutual attraction among water molecules  

(c) Surface tension (iii) Water loss in liquid phase 

(d) Guttation (iv) Attraction towards polar surfaces 

Choose the correct answer from the options given  below. 

uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu;sA 

 lwph - I lwph - II 

(a) llatu (i) nzo voLFkk esa vis{kkÑr vf/kd vkd"kZ.k  

(b) vklatu (ii) ty v.kqvksa ds chp ikjLifjd vkd"kZ.k  

(c) i`"B ruko (iii) nzo voLFkk esa ty gkfu 

(d) fcUnq L=kko (iv) /kzoh; i`"Bksa dh vksj vkd"kZ.k 

 (a)  (b)  (c)  (d) 

(1) (iv)  (iii)  (ii)  (i) 

(2) (iii)  (i)  (iv)  (ii)  

(3) (ii)  (i)  (iv)  (iii) 

(4) (ii)  (iv)  (i)  (iii) 

Ans. (4) 
 

117.  When gene targetting involving gene amplification is attempted in an individual's tissue to treat disease, 

it is known as: 

(1) Gene therapy    (2) Molecular diagnosis 

(3) Safety testing    (4) Biopiracy   

jksx dks Bhd djus ds fy,] tu izo/kZu djrs gq, ,d thu dh y{; fd;k x;k gS rc ;g izfØ;k D;k dgykrh gS\ 

(1) thu fpfdRlk     (2) vk.kfod funku  

(3) lqj{kk ijh{k.k     (4) ck;ksikbjslh 

Ans. (1) 
 

118.  Diadelphous stamens are found in :  

(1) Citrus  (2) Pea   (3) China rose and citrus(4) China rose 

f}la/kh iqadslj fdles ik;s tkrs gS\  

(1) uhacw   (2) eVj   (3) pkbuk jkst vkSj uhcw (4) pkbuk jkst 

Ans. (2) 
 

119.  A typical angiosperm embryo sac at maturity is:  

(1) 7-nucleate and 8-celled   (2) 7-nucleate and 7-celled 

(3) 8-nucleate and 8-celled   (4) 8-nucleate and 7-celled 

ifjiDo voLFkk esa ,d izk:ih vko`rchths Hkzw.kdks"k fuEufyf[kr esa ls dkSulk gksrk gS\  

(1) 7-dsUndh; vkSj 8-dksf'kdh;    (2) 7-dsUndh; vkSj 7-dksf'kdh; 

(3) 8-dsUndh; vkSj 8-dksf'kdh;   (4) 8-dsUndh; vkSj7-dksf'kdh; 

Ans. (4) 
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120.  Match List – I with List – II 

 lwph – I ds lkFk lwph - II. 

 List – I List – I 

(a) Cells with active division capacity (i) Vascular tissues 

(b) Tissue having all cells similar and structure and function  (ii) Meristematic tissue 

(c) Tissue having different types of cells (iii) Sclereids 

(d) Dead cells with highly thickened walls and narrow lumen  (iv) Simple tissue 

 Select the correct answer from the option given below. 

uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu;sA 

 lwph – I lwph – I 

(a) lfØ; dksf'kdk foHkktu dh {kerk okyh dksf'kdk;sa (i) Lakogu ÅÙkd  

(b) ,d ÅÙkd ftlesa lHkh dksf'kdk;sa lajpuk vkSj dk;Z dh n`f"V ls leku gSA (ii) foHkT;ksrd 

(c) fofHkUu izdkj dh dksf'kdkvksa okyk ÅÙkd  (iii) fLdfyfjM 

(d) vR;f/kd eksVh fHkfÙk ,oa ladjh xqfgdk okyh e`r dksf'kdk;s   (iv) Ljy ÅÙkd 

 (a)  (b)  (c)  (d) 

(1) (iv)  (iii)  (ii)  (i) 

(2) (i)  (ii)  (iii)  (iv) 

(3) (iii)  (ii)  (iv)  (i) 

(4) (ii)  (iv)  (i)  (iii) 

Ans. (4) 

 

121.  The term used for transfer of pollen grains from anthers of one plant to stigma of a different plant 

which, during pollination, brings genetically different types of pollen grains to stigma, is : 

(1) Geitonogamy (2) Chasmogamy (3) Cleistogamy  (4) Xenogamy 

,d ikni ds ijkxdks"k ds] ,d fHké ikin ds ofrZdkxz ij LFkkukUrj.k ds fy, dkSu lk 'kCn iz;qDr gksrk gSA ftlesa 

ijkxd.k ds nkSjku ofrZdkxz ij vkuqokaf'kd :i esa fHkUu izdkj ds ijkxd.k yk;s tkrs gS\ 

(1) ltkriq"ih ijkxd.k (2) mUehy ijkx.kh (3) vuqUehY; ijkx.kh (4) ijfu"kspu 

Ans. (4) 
 

122.  Plants follow different pathways in response to environment or phases of life to form different 

  kinds of structures. This ability is called: 

(1) Flexibility  (2) Plasticity  (3) Maturity  (4) Elasticity 

i;kZoj.k ds izR;qÙkj esa ikni fofHkUu iFkks dk vuqlj.k djrs gS ;k fofHkUu izdkj dh lajpukvksa ds fuekZ.k ds fy, 

fofHkUu voLFkkvksa dk vuqlj.k djrs gSA bl {kerk dks D;k dgk tkrk gS\ 

(1) uE;rk  (2) lq?kV;rk  (3) ifjiDork   (4) izR;kLFkrk 

Ans. (4) 
 

123. Which of the following algae contains mannitol as reserve food material?   

 (1) Gracillaria   (2) volvox    (3) Ulothrix  (4) Ectocarpus 

 fuEufyf[kr essa ls dkSu 'kSoky esa lap;h [kk| ds :i esa eSuhVky gksrk gSA  

 (1) xzkflysfj;k   (2) okWYookDl    (3) ;wyksfFkzDl  (4) ,DVksdkiZl 

Ans. (4) 
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124. Complete the flow chart on central dogma.  

  (a) 
DNA              mRNA              (d) 

(b) (c) 

 

 (1)  (a)-Translation; (b)-Replication; 

  (c)-Transcription; (d)-Transduction 

 (2)  (a)-Replication; (b)-Transcription; 

  (c)-Translation; (d)-Protein 

 (3)  (a)-Transduction; (b)-Translation; 

  (c)-Replication;(d)-Protein 

 (4)  (a)-Replication; (b)-Transcription; 

  (c)-Transduction; (d)-Protein  

 ewy fl}kUr ¼lsUVªy MksXek½ dk iw.kZ izokg fp=k gS  

  (a) 
DNA              mRNA              (d) 

(b) (c) 

 

 (1)  (a)- :ikUrj.k; (b)- izfrÑfrdj.k 

  (c)- vuqys[ku; (d)- ikjØe.k 

 (2)  (a)- izfrÑfrdj.k; (b)- vuqys[ku; 

  (c)- :ikUrj.k; (d)- izksVhu 

 (3)  (a)- izfrÑfrdj.k; (b)- :ikUrj.k; 

  (c)- :ikUrj.k; (d)- izksVhu 

 (4)  (a)- izfrÑfrdj.k; (b)- vuqys[ku; 

  (c)- ikjØe.k; (d)- izksVhu 

Ans. (2) 
 

125. Which the following plants is monoecious ? 

 (1) Chara     (2) Marchantia polymorpha 

 (3) Cycas circinalis    (4) Carica papaya 

 fuEufyf[kr esa ls dkSu lk ikni mHk;fyxakJ;h gS\ 

 (1) dkjk      (2) ekdsZf'k;k ikfyekQkZ 

 (3) lkbdl lflZusafyl    (4) dSfjdk iik;k 

Ans. (1) 
 

126.  Mutation in plant cells can be induced by:  

(A) Infrared rays (2) Gamma rays (3) Zeatin  (4) Kinetin 

ikni dksf'kdkvksa esa fdlds }kjk mRifjorZu izsfjr fd;k tk ldrk gS\  

(A) vojDr fdj.kas  (2) xkek fdj.ksa  (3) ft,fVu  (4) dkbfVu 

Ans. (2) 
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127.  Which of the following is a correct sequence of steps' a PCR (Polymerase Chain Reaction) ? 

(1) Denaturation, Extension, Annealing  (2) Extension, Denaturation, Annealing 

(3) Annealing, Denaturation, Extension  (4) Denaturation, Annealing, Extension 

fuEufyf[kr esa ls] ikWfyejst Ja[kyk vfHkfØ;k (ih lh vkj) ds pj.kksa dk dkSu lk lgh vuqØe gS ? 

(1) fuf"Ø;dj.k, izlkj, rkikuq'khy   (2) izlkj, fuf"Ø;dj.k, rkikuq'khy 

(3) rkikuq'khy, fuf"Ø;dj.k, izlkj   (4) fuf"Ø;dj.k, rkikuq'khy, izlkj 

Ans. (4) 
 

128.  Genera like Selaginella and Salvinia produce two kinds of spores. Such plants are known as : 

(1) Heterosorus  (2) Homosporous (3) Heterosporous (4) Homosorus 

dqN oa'k tSls fd flysftusyk vkSj lkfYofu;k] nks izdkj ds chtk.kq mRikfnr djrs gSA ,sls ikniksa dks D;k dgk tkrk gSA  

(1) gsVsjkslksjl  (2) lechtk.kqd   (3) fo"kechtk.kqd  (4) gkssekslksjl 

Ans. (3) 
 

129.  Which of the following stages of meiosis involves division of centromere? 

(1) MetaphaseII  (2) Anaphase II  (3) Telophase II  (4) Metaphase I 

fuEufyf[kr esa ls v/kZlw=kh foHkktu dh fdl voLFkk esa xq.klw=kfcUnw dk foHkktu gksrk gS\ 

(1) e/;oLFkk II  (2) i'pkoLFkk II  (3) vaR;koLFkk II  (4) e/;oLFkk I 

Ans. (2) 
 

130.  During the purification process for recombinant DNA technology, addition of chilled ethanol 

(1) DNA  (2) Histones  (3) Polysaccharides (4) RNA 

iqu;ksZxt Mh ,u ,] izks|ksfxdh ds fy, 'kqf}dj.k izfØ;k esa 'khry bFksukWy dks feykus ls ;g fdls vo{ksfir djrk gS\ 

(1) Mh ,u ,  (2) fgLVksu  (3) ikWfylSdsjkbM  (4) vkj ,u , 

Ans. (1) 
 

131. The factor that leads to Founder effect in a population is :- 

 (1) Genetic recombination   (2) Mutation 

 (3) Genetic drift     (4) Natural selection 

 fuEufyf[kr esa ls dkSu lk dkjd ,d lef"V QkmaMj izHkko mRié djrk gSA 

 (1) vkuqof'kd iqu;ksZxtu    (2) mRifjorZu  

 (3) vkuqof'kd fopyu    (4) izkÑfrd 'kSoky 

Ans. (3) 
 

132. Which ofthe following algae produce Carrageen?  

 (1) Brown algae.    (2) Red algae 

 (3) Blue-green algae    (4) Green algae 

 fuEufyf[kr esa ls dkSu ls 'kSoky dSjkxhu mRié djrs gS\  

 (1) Hkwjs 'kSoky     (2) yky 'kSoky 

 (3) uhy&gfjr 'kSoky    (4) gfjr 'kSOkky 

Ans. (2) 
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133. Gemmae are present in: 

(1) Pteridophytes    (2) Some Gymnosperms 

(3) Some Liverworts    (4) Mosses 

tseh fdlesa ik;s tkrs gS\ 

(1) VsfjMksQkbV esa     (2) dqN vuko`rchth;ksa esa 

(3) dqN fyojoV~Zl esa    (4) ekWl esa 

Ans. (3) 

 

134. The amount of nutrients, such as carbon, nitrogen, phosphorus and calcium present in the soil at any 

given time, is referred as :  

(1) Climax community  (2) Standing state (3) Standing crop (4) Climax 

dkcZu] ukbVªkstu] QkLQksjl vkSj dSfY'k;e tSl iks"kdksa dh e`nk esa ek=k] fdlh fn;s x;s le; esa dSls lanfHkZr dh 

tkrh gSA  

(1) pje leqnk;   (2) LFkk;h voLFkk  (3) LFkk;h Qly  (4) pje voLFkk 

Ans. (2) 
 

135. When the centromere is situated in the middle of two equal arms of chromosomes, the chromosome is 

referred as :   

(1) Telocentric  (2) Sub- metacentric (3) Acrocentric  (4) Metacentric 

tc xq.klw=kfcUnq] xq.klw=k dh nks cjkcj Hkqtkvksa ds e/; esa fLFkr gksrk gS rc ;g D;k dgykrk gS \ 

(1) vardsUnzh  (2) mie/;dsUnzh  (3) vxzfcUnqd  (4) e/;dsUnzh 

Ans. (4)  

Section-II 

Single Choice Type 

This section contains 15 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 15 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

136.  DNA fingerprinting involves identifying differences in some specific regions in DNA sequence, called 

as: 

(1) Repetitive DNA (2) Single nucleotides (3) Polymorphic DNA (4) Satellite DNA 

DNA vaxqyhNkih esa DNA vuqØe esa dqN fof'k"V LFkkuksa esa fHkUurkvksa dh igpku dh tkrh gS fof'k"V LFkkuksa dks D;k 

dgk tkrk gS \ 

(1) iqujko`fÙk DNA  (2) ,dy U;wfDy;ksVkbM (3) cgq:ih; DNA  (4) vuq"kaxh DNA 

Ans. (1) 
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137.  Plasmid pBR322 has Pas restriction enzyme site within gen ampR that confers ampicillin resistance. If 

this enzyme is used for inserting a gene for -galactoside production and the recombinant plasmid is 

inserted in an E.coli strain 

(1) the transformed cells will have the ability to resist ampicillin as well as produce -galactoside.  

(2) it will lead to lysis of host cell. 

(3) it will be able to produce a novel protein with dual ability.  

(4) it will not be able to confer ampicillin resistance to the host cell 

IySfTeM pBR322 esa thu ampR ds vUnj Pasizfrca/ku ,Utkbe gS tks ,Eihflyhu izfrjks/k n'kkZrk gSA ;fn bl 

,Utkbe dks chVk&xSysDVkslkbM mRiknu ds fy, ,d thu ds fyf, fuosf'kr fd;k tkrk gS vkSj iqu;ksZxt IySfTeM dks 

b-dksyh LVªsu esa fuosf'kr fd;k tkrk gS rc % 

(1) :ikarfjr dksf'kdkvksa esa ,Eihflyhu izfrjks/k dh {kerk gksxh vkSj lkFk gh chVk&xSysDVkslkbM mRiknu djsxhA 

(2) blesa iks"kh dksf'kdk es y;u gks tk;sxk 

(3) blesa }Sr {kerk ds lkFk u;s izksVhu mRiknu dh {kerk gksxhA 

(4) ;g iks"kh dksf'kdk dks ,Eihflyhu izfrjks/k ugha cuk ik;sxkA 

Ans. (4) 

 

138. Match Column - I with Column - II.  

 LrEHk- I dks LrEHk -II ls lqesfyr dhft,A  

 Column-I Column-II 

(a) Nitrococcus (i) Denitrification 

(b) Rhizobium (ii) Conversion of ammonia to nitrite 

(c) Thiobacillus (iii) Conversion of nitrite to nitrate 

(d) Nitrobacter (iv) Conversion of atmospheric nitrogen to 

ammonia 

 Choose the correct answer from options given below. 

 uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu,A 

 LrEHk-I LrEHk-II 

(a) ukbVªksdksdl (i) foukbVªhdj.k 

(b) jkbtksfc;e (ii) veksfu;k dk ukbVªkbV esa ifjorZu 

(c) fFk;kcSlhyl (iii) ukbVªkbV dk ukbVªsV esa ifjorZu 

(d) ukbVªkscSDVj (iv) ok;qeaMyh; ukbVªkstu dk veksfu;k esa ifjorZu 

   (a)  (b)  (c)  (d) 

(1)  (i)  (ii)  (iii)  (iv) 

(2)  (iii)  (i)  (iv)  (ii) 

(3) (v)  (iii)  (ii)  (i) 

(4)  (ii)  (iv)  (i)  (iii) 

Ans. (4) 
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139. Match List- I with List - II. 

 lwph - I dks lwph- II ds lkFk lqesfyr dhft,A 

List- I List- II 

(a) Protein (i) C=C double bonds 

(b) Unsaturated 

fatty acid 

(ii) Phosphodiester bonds 

(c) Nucleic acid (iii) Glycosidic bonds 

(d) Polysaccharide (iv) Peptide bonds 

 

lwph - I lwph - II 

(a) izksVhu (i) C=C f}cU/k 

(b) vlar`Ir olh; vEy (ii) QkLQksMkb,LVj cU/k 

(c) U;wDyhd vEy (iii) XykbdkslkbfMd cU/k 

(d) ikWyhlSdsjkbM (iv) isIVkbM cU/k 

Choose the correct answer from the options given below. 

uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu,A 

 (a)  (b)  (c)  (d) 

(1)  (i)  (iv) (iii)  (ii) 

(2)  (ii)  (i)  (iv)  (iii) 

(3) (iv)  (iii) (i)  (ii) 

(4)  (iv)  (i) (ii)  (iii) 

Ans. (4) 

 

140. Match List- I with List - II. 

 lwph - I dks lwph- II ds lkFk lqesfyr dhft,A 

List- I List- II 

(a) S phase (i) Proteins are synthesized 

(b) G2 phase (ii) Inactive phase 

(c) Quiescent stage (iii) Interval between mitosis and initiation of DNA replication 

(d) G1 phase (iv) DNA replication 
  

lwph- I lwph - II 

(a) S voLFkk (i) izksVhuksa dk la'ys"k.k gksrk gS 

(b) G2 voLFkk (ii) fuf"Ø; voLFkk 

(c) 'kkar voLFkk (iii) DNA izfrÑfrdj.k ds izkjEHk gksus ds chp vUrjky 

(d) G1 voLFkk (iv) DNA dk izfrÑfrdj.k 

Choose the correct answer from the options given below. 

uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu,A  

 (a)  (b) (c) (d) 

(1)  (iv)  (ii) (iii)  (i) 

(2) (iv)  (i)  (ii) (iii) 

(3)  (ii)  (iv)  (iii)  (i) 

(4)  (iii) (ii)  (i)  (iv) 

Ans. (2) 
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141.  Which the following statements is correct ? 

(1) Fusion of protoplasms between two motile on non-motile gametes is called plasmogamy. 

(2) Organisms that depend on living plants are called saprophytes. 

(3) Some of the organisms can fix atmospheric nitrogen in specialized cells called sheath K cells. 

(4) Fusion of two cells is called Karyogamy  

fuEufyf[kr esa ls d©u lk dFku lgh gS\ 

(1) vpy ;qXed¨a ij n¨ py ;qXed¨a ds chp thoæO; ds lay;u d¨ d¨f'kdk æO;&y;u dgk tkrk gSA 

(2) t¨ tho thfor ikni¨a ij fuÒZj g¨rs gSa mUgsa e`rksithoh dgk tkrk gS  

(3) dqN tho ok;qeaMyh; ukbVª¨tu ds vkPNkn d¨f'kdk dgh tkus okyh fof'k"V d¨f'kdkvksa esa fLFkjhÑr dj 

ldrs gSaA 

(4) n¨ d¨f'kdkvksa ds lay;u d¨ dsUæd lay;u dgk tkrk gSA 

Ans. (1) 

 

142.  Which of the following statements is incorrect? 

(1) Stroma lamellae have PS I only and lack NADP reductase. 

(2) Grana lamellae have both PS I and PS II 

(3) Cyclic photophosphorylation involves both PS I and PS II. 

(4) Both ATP and NADPH + H+ are synthesized during non-cyclic photophosphorylation. 

fuEufyf[kr esa ls d©u lk dFku xyr gS\ 

(1) ihfBdk&ySfeyh esa dsoy PS  g¨rk gS vkSj NADP fjMDVst dk vHkÒko g¨rk gSA 

(2) xzkuk ySfeyh esa PS  vkSj PS  n¨u¨a g¨rs gSaA  

(3) pØh; Áizdk'k QkLQ¨fjys'ku esa ƒPS  vkSj PS  n¨u¨a 'kkfey g¨rs gSaA 

(4) ATP vkSj ‹NADPH + H+ n¨u¨a dk xSj pØh; Áizdk'k QkLQ¨fjys'ku ds n©jku la'ys"k.k g¨rk gSA 

Ans. (3) 

 

143. Identity correct statement. 

(1) RNA polymerase binds with Rho factor to terminate the process of transcription in bacteria, 

(2) The coding strand in a transcription unit is copied to an mRNA. 

(3) Split gene arrangement is characteristic of prokaryotes. 

(4) In capping, methyl guanosine triphosphate is added to the 3' end of hn RNA. 

fuEufyf[kr eas ls lgh dFku pqfu,A 

(1) thok.kqvksa esa vuqys[ku dh izfrØ;k dk lekiu djus ds fy, vkj-,u-, ikWfyejst] Rho dkjd ds lkFk cfU/kr gks 

tkrk gSA  

(2) ,d vuqys[ku bdkbZ esa dwV jTtqd] ,d mRNA ij izfrÑr gksrk gSA  

(3) foHkDr thu&O;oLFkk izksdSfj;kVksa dk fof'k"V y{k.k gSA  

(4) dSfiax esa esfFky Xokukslhu VªkbQkLQsV dks hn RNA ds 3' fljs ls tksMk tkrk gSA  

Ans. (1) 
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144. In the exponential growth equation 
Nt = N0ert, e represents:  
(1) The base of exponential logarithms  (2) The base of natural logarithms 
(3) The base of geometric logarithms  (4) The base of number logarithms 
pkj?kkrkadh o`f) lehdj.k  

Nt = N0ert esa] e fdls fu:fir djrk gS\ 

(1) pj?kkrkadh y?kqx.kd dk vk/kkj    (2) izkÑfrd y?kqx.kd dk vk/kkj  
(3) T;kfefrd y?kqx.kd dk vk/kkj    (4) la[;k y?kqx.kd dk vk/kkj  

Ans. (2) 
 
145.  Now a days it is possible to detect the mutated gene causing cancer by allowing radioactive probe to 

hybridise its complimentary DNA in a clone of cells, followed by its detection using autoradiography 
because: 
(1) mutated gene completely and clearly appears on a photographic film. 
(2) mutated gene does not appear on a photographic film as the probe has no complementarity with it. 
(3) mutated gene does not appear on photographic film as the probe has complementarity with it. 
(4) mutated gene partially appears on a photographic film. 
d¨f'kdkvksa ds ,d Dy¨u esa jsfM;¨/kehZ izÁ©c ls blds Mh-,u-,] dk ladj.k dj vkSj mlds ckn vkWV‚ksjsfM;¨xzkQh Áiz;qä 
dj bldh igpku dj dSalj mRié djus okyh mRifjofrZr thu dk irk yxkuk vktdy laHko gS D;ksafd %  
(1) mRifjofrZr thu Q¨V¨xzkfQd fQYe ij iw.kZ vkSj Li"V :i esa vkrh gSA 
(2) mRifjofrZr thu Q¨V¨xzkfQ+d fQYe ij ugha vkrh D;¨afd izksc esa bldk d Ã̈ iwjd ugha gSA 
(3) mRifjofrZr thu QksVksxzkfQd fQYe ij ugha vkrh D;ksafd izksc esa bldk iwjd gksrk gSA  
(3) mRifjofrZr thu QksVksxzkfQd fQYe ij vkaf'kd :i esa vkrh gSA  

Ans. (2) 
 

146. Match Column - I with Column - II. 
 LrEHk- I dks LrEHk -II ls lqesfyr dhft,A 

 Column-I Column-II 
(a) 

 
(i) Brassicaceae 

(b) 
 

(ii) Liliaceae 

(c) 

 

(iii) Fabaceae 

(d) 

 

(iv) Solanaceae 

 
 LrEHk-I LrEHk-II 
(a) 

 
(i) czkfldslh 

(b) 
 

(ii) fyfy,lh 

(c) 

 

(iii) QScslh 

(d) 

 

(iv) lksysuslh 

 
Select the correct answer from the options given below. 
uhps fn;s x;s fodYiksa esa ls lgh mÙkj pqfu,A 

(a)  (b)  (c)  (d) 
(1)  (i)  (ii)  (iii)  (iv) 
(2)  (ii)  (iii)  (iv)  (i) 
(3) (iv) (ii)  (i)  (iii)  
(4) (iii)  (iv)  (ii)  (i) 

Ans. (4) 
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147.  Which of the following statements is incorrect? 

(1) In ETC (Electron Transport Chain), one molecule of NADH + H+ gives rise to 2ATP molecules, and 

one FADH2 gives rise to 3ATP molecules. 

(2) ATP is synthesized through complex V. 

(3) Oxidation-reduction reactions produce proton gradient in respiration. . 

(4) During aerobic respiration, role of oxygen is limited to the terminal stage. 

 fuEufyf[kr esa ls dkSu lk dFku xyr gS \ 

(1) b-Vh-lh (bysDVªkWu ifjogu J`a[ky) esa, NADH + H+ ds ,d v.kq ls ,-Vh-ih- ds nks v.kq curs gS vkSj ,d FADH2 ls 

rhu ATP v.kq curs gSaA 

(2) ,-Vh-ih- dk la'ys"k.k lfEeJ V ds }kjk gksrk gSA  

(3) mikip;u vfHkfØ;k;sa] 'olu esa izksVksu izo.krk mRiUu djrh gSaA  

(4) ok;oh; 'olu ds nkSjku] vkWDlhtu dh Hkwfedk vafre voLFkk rd lhfer gSA  

Ans. (1) 

 

148. What is the role of RNA polymerase  in the process of transcription in eukaryotes ? 

(1) Transcribes tRNA, 5s rRNA and snRNA 

(2) Transcribes precursor of mRNA 

(3) Transcribes only snRNAs 

(4) Transcribes rRNAs (28S, 18S and 5.8S) 

llhedsanzdh thoksa esa vuqys[ku dh izfrØ;k esa vkj-,u-,- ikWfyejstdh Hkwfedk D;k gS \ 

(1) tRNA, 5s rRNA vkSj snRNA dks vuqysf[kr djrk gS 

(2) mRNA ds iwoZorhZ dks vuqysf[kr djrk gS  

(3) dsoy snRNAs dks vuqysf[kr djrk gS 

(4) rRNAs (28S, 18S vkSj 5.8S) dks vuqysf[kr djrk gS  

Ans. (1) 

 

149.  In some members of which of the following pairs  of families, pollen grains retain their viability for 

months after release? 

(1) Poaceae ; Leguminosae   (2) Poaceae  ; Solanaceae 

(3) Rosaceae ; Leguminosae   (4) Poaceae : Rosaceae 

fuEufyf[kr esa ls fdu dqy¨a ds ;qXe esa muds dqN lnL;¨a esa ijkxd.k¨a dh thou{kerk] muds eqä g¨us ds ckn 

eghu¨a rd jgrh gS\ 

(1) i¨,lh] ysX;qfeu¨lh    (2) i¨,lh] l¨ysuslh 

(3) j¨tslh] ysX;qfeukslh    (4) iks,lh] jkstslh 

Ans. (3) 
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150. Select the correct pair. 

(1) In dicot leaves, vascular   -  Conjunctive 

bundles are surrounded    tissue 

by large thick-walled cells 

(2) Cells of medullary rays   -  Interfascicular 

that form part of      cambium  

cambial ring 

(3) Loose parenchyma cells   -  Spongy 

rupturing the epidermis     parenchyma 

and forming a lens shaped opening in bark 

(4) Large colorless empty   -  Subsidiary cells 

cells in the epidermis 

of grass leaves 

fuEufyf[kr esa ls lgh ;qXe dks pqfu,A  

(1) f}chti=kh ifÙk;ksa esa   & ;kSfxd Ård   

laogu c.My eksVh fHkfÙk okyh cM+h  

dksf'kdkvksa ls f?kjs gksrs gSa  

(2) eTtk fdj.kksa dh dksf'kdk;sa tks  & varjiwyh; 

        dSfc;e oy; ds Hkkx dk    dSafc;e 

        fuekZ.k djrh gSa   

(3) ckgz;Ropk dks QkM+us okyh & Liath e`nwrd 

f'kfFky e`nq dksf'kdk;sa tks Nky esa ysal ds vkdkj dh fNnz cukrh gS   

(4) ?kkl dh ifÙk;ksa dh ckáRopk & lgk;d dksf'kdk;sa 

esa cM+h jaxghu fjDr dksf'kdk;s 
Ans. (3) 

Section - A (Biology : Zoology) 
 

Section-I 

Single Choice Type 
This section contains 35 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 35 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

151.  Which of the following is not an objective of Biofortification in crops ?' . 

(1) Improve resistance to diseases 

(2) Improve vitamin content .,...... 

(3) Improve micronutrient and mineral content 

(4) Improve protein content 

fuEu esa dksu Qlyksa ds ck;ksQksfVZfQds'ku dk m)s'; ugha gSa \ 

(1) jksxksa dh izfrjks/kdrk esa lq/kkj djuk 

(2) foVkfeu dh ek=kk esa lq/kkj djuk 

(3) lw{e&iks"kdksa ,ao [kfutkas dh ek=kk esa lq/kkj djuk 

(4) izksVhu dh ek=kk esa lq/kkj djuk 
Ans. (1) 
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152.  Read the following statements.  

(a) Metagenesis is observed in Helminths 

(b) Echinoderms are triploblastic and coelomaty animals. 

(c) Round worms have organ-system level of body organization.  

(d) Comb plates present in ctenophores help in digestion  

(e) Water vascular system is characteristic of Echinoderms.  

Choose the correct answer from the options given below. 

(1) (a), (b) and (c)are correct   (2) (a), (d) and (e) are correct  

(3) (b), (c)and (e) are correct    (4) (c), (d)  and (e)  are correct 

fuEu dFkuksa dks i<+kas  

(a) esVktusfll Ñfe;ksa esa ik;k tkrk gSA 

(b) ,dkbuksMeZ f=kdksjd ,ao xqgh; tarq gksrs gSaA 

(c) xksyÑfe;ksa esa laxBu dk Lrj vax ra=k gksrk gSA  

(d) VhukQksj esa mifLFkr dadr ifV~Vdk,¡ ikpu esa lgk;rk djrh gSaA 

(e) ty loagu dk ,dkbuksMeZ dh fof'k"Vrk gksrh gSA 

fuEu fodYiksa ls mfpr mÙkj dk p;u djks 

(1) (a), (b) ,oa (c) lgh gSaA   (2) (a), (d) ,oa (e) lgh gSaA 

(3) (b), (c) ,oa (e) lgh gSaA   (4) (c), (d)  ,oa (e)  lgh gSaA 

Ans. (3) 

 

153. Sphincter of oddi is present at  

(1) Junction of hepato-pancreatic duct and duodenum 

(2) Gastro-oesophageal junction 

(3)  Junction of jejunum and duodenum 

(4)  leo-caecal junction 

vksMh vojksf/kuh dgk¡ mifLFkr gksrh gS \ 

(1) ;Ñr vXuk'k;h okfguh ,oa xzg.kh laf/k 

(2) tBj&xzfldk laf/k 

(3) vxz{kqnka=k ,ao xzg.kh laf/k 

(4) f=kdkar laf/k 

Ans. (1) 

 

154.  Which stage of meiotic prophase shows terminalisation of chiasmata as its distinctive feature? 

(1) Zygotene  (2) Diakinesis  (3) Pachytene  (4) Leptotene 

v/kZlw=kh iwokZoLFkk dh dkSu lh izkoLFkk dk fof'k"V y{k.k dkb,TesVk dk mikarhHkou gS \ 

(1) ;qXeiê  (2) ikjxfrØe  (3) LFkqyiê  (4) ruqiê 

Ans. (2) 
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155.  The fruit fly has 8 chromosomes (2n) in each cell. During interphase of Mitosis if the number of 

chromosomes at G1 phase is 8, what would be the number of chromosomes after S phase? 

(1) 16   (2) 4   (3) 32   (4) 8 

QyeD[kh dh izR;sd dksf'kdk esa 8 xq.klw=k (2n) gksrs gSaA ;fn lw=kh foHkktu dh varjkoLFkk dh G1 izkoLFkk esa xq.klw=kksa 

dh la[;k 8 gS rc S -izkoLFkk ds ckn xq.klw=kksa dh la[;k D;k gksxh \ 

 (1) 16   (2) 4   (3) 32   (4) 8 

Ans. (4) 

 

156. For effective treatment of the disease, early diagnosis and understanding its pathophysiology is very 

important. Which of the following molecular diagnostic techniques is very useful for early detection? 

(1) Southern Blotting Technique   (2) ELISA Technique 

(3) Hybridization Technique   (4) Western Blotting Technique 

fdlh jksx ds izHkkoh mipkj ds fy, blds vkajafHkd funku ,ao jskx&fØ;k foKku dks le>uk cgqr egRoiw.kZ gSA fuEu 

esa dkSu lh vkf.od funku rduhd vkjafHkd igpku ds fy, cgqr mi;ksxh gS\] 

(1) lnuZ CyksfVax rduhd    (2) ELISA rduhd 

(3) ladj.k rduhd    (4) oSLVuZ CyksfVax rduhd 

Ans. (2) 

 

157.  With regard to insulin choose correct options. 

(a) C-peptide is not present in mature insulin 

(b) The insulin produced by rDNA technology has C-peptide  

 (c) The pro-insulin has C-peptide  

(d) A peptide and B-peptide of insulin are interconnected by disulphide bridges 

Choose the correct answer from the options given below.  

(1) (b) and (c) only    (2) (a), (c) and (d) only 

(3) (a) and (d) only    (4) (b) and (d) only 

balqyhu ds lanHkZ esa mfpr fodYi dk p;u djksA  

(a) ifjiDo balqyhu esa lh&isIVkbM ugha gksrh A  

(b) vkj Mh ,u , izkS|ksfxdh ls mRikfnr balqyhu esa lh&isIVkbM gksrk gSA  

 (c) izkd~&balqyhu esa lh&isIVkbM gksrk gSA  

(d) balqyhu ds ,&isIVkbM ,o ach&isIVkbM MkblYQkbM ca/kksa }kjk ikjLifjd tqM+s gksrs gSaA 

uhps fn, x;s fodYiksa esa ls mfpr mÙkj dk p;u djksA 

(1) dsoy (b) ,oa (c)   (2) dsoy (a), (c) rFkk (d)  

(3) dsoy (a) rFkk (d)   (4) dsoy (b) rFkk (d)  

Ans. (2) 
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158. Match List- I with List - II. 

 lwph - I dks lwph - II ds lkFk feyku djksA 

 List- I List- II 

(a) Aspergillus niger (i) Acetic acid 

(b) Acetobacter aceti (ii) Lactic acid 

(c) Clostridium butylicum (iii) Citric acid 

(d) Lactobacillus (iv) Butyric aicd 

  

 lwph - I lwph - II 

(a) ,sLijftyl ukbxj (i) ,lhfVd vEy 

(b) ,lhVkscSDVj ,flVkbZ (ii) ySfDVd vEy 

(c) DyksLVªhfM;e C;wVk;fyde (iii) flfVªd vEy 

(d) ySDVkscSflyl (iv) C;wfVfjd vEy 

 Choose the correct answer from the options given below. 

 fuEu fodYiksa ls mfpr Lrj dk p;u djksa % 
(a)  (b)  (c)  (d) 

(1)  (i)  (ii)  (iii)  (iv) 

(2) (ii)  (iii)  (i)  (iv) 

(3)  (iv)  (ii)  (i)  (iii) 

(4)  (iii)  (i)  (iv)  (ii) 

Ans. (4)  

 

159. Match List- I with List - II. 

 lwph - I dks lwph - II ds lkFk feyku djksA 

List- I List- II 

(a) Metamerism (i) Coelenterata 

(b) Canal system (ii) Ctenophora 

(c) Comb plates (iii) Annelida 

(d) Cnidoblasts (iv) Porifera 

  

 lwph - I lwph - II 

(a) fo[kaMkoLFkk (i) lhysUVjsVk 

(b) uky&ra=k (ii) VhuksQksjk 

(c) dadr ifêdk (iii) ,susfyMk 

(d) na'k dksf'kdk (iv) iksjhQsjk 

 Choose the correct answer from the options given below. 

 fuEu fodYiksa ls mfpr Lrj dk p;u djksa % 
   (a)  (b)  (c)  (d) 

(1)  (iii)  (iv)  (i)  (ii) 

(2) (iii)  (iv)  (ii)  (i) 

(3)  (iv)  (i)  (ii)  (iii) 

(4)  (iv)  (iii)  (i)  (ii) 

Ans. (2) 
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160. If Adenine makes 30% of the DNA molecule, what will be the percentage of Thymine, Guanine and 

Cytosine in it ? - 

 ;fn ,d Mh ,u , v.kq esa ,sMsuhu dh ek=kk 30%  gS rc Fkk;ehu] Xokuhu ,oa lkbVkslhu fdrus izfr'kr gksaxs \ 

(1) T : 20 ; G : 20 ; C : 30   (2) T : 30 ; G : 20 ; C :20 

(3) T : 20 ; G : 25 ; C : 25   (4) T: 20 ; G : 30 ; C : 20 

Ans. (2) 

 

161. Select the favourable conditions required for the formation of oxhaemoglobin at the alveoli 

(1) Low pO2, high pCO2 more H+, higher temperature 

(2) High pO2, high pCO2 less H+, higher temperature 

(3) Low pO2, low pCO2 more H+, higher temperature 

(4) High pO2, low pCO2 less H+, lower temperature 

dwfidkvksa esa vkDlhgheksXyksfcu cuus ds fy, vuqdwy ifjfLFkfr;ksa dk p;u djksA  

(1) fuEu pO2, mPp pCO2 vf/kd H+, vis{kkÑr mPp rkieku 

(2) mPp pO2, mPp pCO2 fuEu H+, vis{kkÑr mPp rkieku 

(3) fuEu pO2, fuEu pCO2 vf/kd H+, vis{kkÑr mPp rkieku 

(4) mPp pO2, fuEu pCO2 fuEu H+, vis{kkÑr de rkieku 

Ans. (4) 

 

162. The organelles that are included in the endomembrane system are 

 (1) Endoplasmic reticulum, Golgi complex, Lysosomes and Vacuoles 

 (2) Golgi complex, Mitochondria, Ribosomes and Lysosomes 

 (3) Golgi complex, Endoplasmic reticulum, Mitochondria and Lysosomes 

 (4) Endoplasmic reticulum, Mitochondria, Ribosomes and Lysosomes 

 var% f>fYydk ra=k es dkSu ls dksf'kdkax lfEefyr gksrs gSa \ 

 (1) varnzZO;h tkfydk] xkWYth lfEeJ] y;udk; ,oa jl/kkuh 

 (2) xkWYth lfEeJ] lw=kdf.kdk] jkbckslkse ,oa y;udk; 

 (3) xkWYth lfEeJ] varnzZO;h tkfydk] lw=kdf.kdk ,oa y;udk; 

 (4) varnzZO;h tkfydk] lw=kdf.kdk] jkbckslkse ,oa y;udk; 

Ans. (1) 
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163. Match the following 
feyku djksA 

 List-I List-II 
(a) Physalia (i)  Pearl oyster 
(b) Limulus (ii) Portuguese Man of War 
(c) Ancylostoma (iii) Living fossil 
(d)  Pinetada (iv) Hookworm 

  
 lwph - I lwph - II 

(a) Qkblsfy;k (i) eqDrk'kqfDr 

(b) fyewyl (ii) iqrZxkyh ;q) ekuo 

(c) ,ulkbyksLVksek (iii) thfor thok'e 

(d) fiadVkMk (iv) vadq'kÑfe 

 Choose the correct answer from the options given below 
 fuEu fodYiksa ls mfpr Lrj dk p;u djksa % 
  (a)  (b)  (c)  (d) 
 (1) (iv) (i)  (iii)  (ii) 

(2) (ii) (iii)  (iv)  (i) 
(3)  (i)  (iv)  (iii)  (ii) 
(4)  (ii)  (iii)  (i)  (iv) 

Ans. (2) 
 

164.  The partial pressures (in mm Hg) of oxygen (O2) and carbon dioxide (CO2) at alveoli (the site of 
diffusion) are: 
(1) pO2 = 40 and p O2 = 45   (2) pO2 = 95 and pCO2 = 40 
(3) pO2 = 159 and pCO2 = 0.3    (4) pO2 = 104 and pCO2 = 40 
dwfidkvksa ¼folj.k LFky½ esa vkWDlhtu (O2) ,oa dkcZu MkbvkWDlkbM (CO2) dk vkaf'kd ncko (mm Hg esa) gksrk gS % 
(1) pO2 = 40 ,oa p O2 = 45   (2) pO2 = 95 ,oa pCO2 = 40 

(3) pO2 = 159 ,oa pCO2 = 0.3    (4) pO2 = 104 ,oa pCO2 = 40 

Ans. (4) 
 

165.  Match List - I with List - II. 
lwph - I dks lwph - II ds lkFk feyku djksA  

List- I List- II 

(a) Valults (i) Entry of sperm through Cervix is blocked 

(b) IUDs (ii) Removal of Vas deferens  

(c) Vasectomy (iii) Phagocytosis of sperms within the Uterus 

(d) Tubectomy (iv) Removal of fallopian tube 

  
List- I List- II 

(a) okWYV (i) xHkkZ'k; xzhok esa 'kqØk.kq ds izos'k dks jksdrs gSaA 

(b) vkbZ ;w Mh (ii) 'kqØokgd dks gVkuk 

(c) 'kqØokgd mPNsnu (iii) xHkkZ'k; esa 'kqØk.kqvksa dh Hk{kdk.kqfØ;k 
(d) ufydk mPNsnu (iv) fMEcokfguh ufydk dks gVkuk 

 
Choose the correct answer from the options given below. 
fuEu fodYiksa ls mfpr Lrj dk p;u djksa % 

(a)  (b)  (c)  (d) 
(1) (i)  (iii)  (ii)  (iv) 
(2) (ii)  (iv) (iii)  (i) 
(3) (iii)  (i)  (iv)  (ii) 
(4)  (iv)  (ii)  (i)  (iii) 

Ans. (1) 
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166.  During the process of gene amplification using  PCR, if very high temperature is not maintained in the 

beginning, then which of the following steps of PCR will be affected first? 

(1) Extension  (2) Denaturation (3) Ligation  (4) Annealing 

ih lh vkj ds mi;ksx ls thu izo/kZu dh vfHkfØ;k ds nkSjku ;fn vkjaHk esa mPp rkieku cuk ugha jgrk rc fuEu esa 

ih lh vkj dk dkSu lk pj.k igys izHkkfor gksxk \ 

(1) izlkj   (2) fuf"Ø;dj.k  (3) ykbxs'ku  (4) rkikuq'khyu 

Ans. (2) 

 

167.  Identify the incorrect pair. 

(1) Toxin  – Abrin 

(2) Lectins  – Concanavalin A 

(3) Drugs – Ricin 

(4) Alkaloids – Codeine  

vuqfpr ;qXe dks igpkfu,A 

(1) fo"k   – ,cfju 

(2) ySfDVu  – dksusdSukofyu A 

(3) Mªx  – fjflu 

(4) ,YdSykWbM~l – dksMhu  

Ans. (3) 

 

168.  Chronic auto immune disorder affecting neuro muscular junction leading to fatigue, weakening and 

paralysis of skeletal muscle is called as: 

 (1)  Muscular dystrophy    (2) Myasthenia gravis 

 (3) Gout     (4) Arthritis 

 nh?kZdkyh Loizfrj{kk fodkj tks raf=kdk is'kh; laf/k dks izHkkfor djrh gS ,oa ftlds dkj.k dadky is'kh esa detksjh 

,oa i{k?kkr gksrk gS] dgykrh gS % 

 (1) is'kh; nq"iks"k.k     (2) ekbLFksfu;k xzsfol 

 (3) xkmV      (4) laf/k'kksFk 

Ans. (2) 
 

169. Which enzyme is responsible for the conversion of inactive fibrinogens to fibrins ? 

(1) Renin  (2) Epinephrine  (3) Thrombokinase (4) Thrombin 

dkSu lk batkbe fuf"Ø; Qkbfczukstu dks Qkbfczu esa cnyus ds fy, mÙkjnk;h gS \ 

(1) jsfuu   (2) ,fiusÝhu  (3) FkzksEcksdkbust  (4) FkzksfEcu 

Ans. (4) 

 

170. The centriole undergoes duplication during  

 (1) Prophase  (2) Metaphase  (3) G2 phase  (4) S-phase  

 rkjddsanz dc f}xqf.kr gksrk gS \ 

 (1) iqokZoLFkk  (2) e/;koLFkk  (3) G2 izkoLFkk  (4) S-izkoLFkk 

Ans. (4) 
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171.  Which one of the following organisms bears hollow and pneumatic long bones ?  

 (1) Hemidactylus (2) Macropus  (3) Ornithorhynchus (4) Neophron  

 fuEu eas ls fdlesa [kks[kyh ,oa yEch okfry gfM~M;k¡ ik;h tkrh gS?  

 (1) gSehMsDVk;yl  (2) eSØksil  (3) vkSjfuFkksfajadl  (4) fuvksÝkWu 

Ans  (4) 

 

172.  Receptors for sperm binding in mammals are present on: 

 (1) Vitelline membrane    (2) Perivitelline space 

 (3) Zona pellucida    (4) Corona radiata  

 Lur/kkfj;ksa esa 'kqØk.kq ca/k ds xzkgh dgk¡ mifLFkr gksrs gSaA 

 (1) ihrd f>YYkh     (2) ifjihrd vodk'k 

 (3) tksuk isY;qflMk    (4) dksjkuk jsfM,sVk 

Ans  (3) 
 

173.  A specific recognition sequence identified by endonucleases to make cuts at specific positions 

 within the DNA is : 

 (1) Okazaki sequences    (2) Palindromic Nucleotide sequences 

 (3) Poly (A) tail sequences   (4) Degenerate primer sequence 

 ,d fof'k"V iagpku vuqØe tks ,aMksU;wfDy,t }kjk Mh ,Uk , dks fof'k"V fLFkfr ij dkVus d fy, igpkuk tkrk gS] 

D;k dgykrk gSA 

 (1) vksdktkdh vuqØe    (2) iSyhUMªksfed U;wfDyvksVklbM vuqØe 

 (3) cgq (A) iqPNu vuqØe    (4) viáflr izkjEHkd vuqØe 

Ans  (2) 
 

174.  In a cross between a male and female, both heterozygous for sickle cell anaemia gene, what 

 percentage of the progeny will be diseased? 

 ,d uj vkSj eknk nksuksa nk=k dksf'kdk vjDrrk ds thu ds fy, fo"ke;qXeth gSa fd ladj.k ls mRiUUk larfr dk 

fdruk izfr'kr jksx;qDr gksxk? 

 (1) 75%   (2) 25%   (3) 100%   (4) 50% 

Ans  (2) 

 

175. Which is the "Only enzyme" that has "Capability" to catalyse initiation, Elongation and Termination in 

the process of transcription in prokaryotes   

 (1) DNA dependent RNA polymerase  (2) DNA ligase     

 (3) DNase     (4) DNA dependent DNA polymerase 

 vlhedsUædh dh vuqys[ku izfØ;k esa dkSu lk ,atkbe izkjaHku] nh?khZdj.k ,oa lekiu dks mRizsfjr djrk gSA 

 (1) DNA ij fuHkZj RNA ikWyhejst   (2) DNA ykbxst     

 (3) Mh ,u ,st     (4) DNA ij fuHkZj DNA ikWyhejst 

Ans  (1) 
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176.  Success entericus is referred to as : 

 (1) Intestinal juice (2) Gastric juice  (3) Chyme  (4) Pancreatic juice 

 lDdl ,aVsfdjl dk lanHkZ gSA 

 (1) vka=k jl ls  (2) tBj jl ls   (3) dkbe ls  (4) vXuk'k;h jl ls 

Ans  (1) 

 

177.  Which one of the following. is an example of Hormone releasing IUD ? 

 (1) LNG 20  (2) Cu 7  (3) Multiload 375 (4) CuT 

 fuEu ds dkSu gkeksZu ekspd vkbZ ;w Mh dk mnkgj.k gSA? 

 (1) LNG 20  (2) Cu 7  (3) eYVkyksM 375  (4) CuT 

Ans  (1) 

 

178.  Veneral diseases can spread through: 

 (a) Using sterile needles 

 (b) Transfusion of blood from infected person 

 (c) Infected mother to foetus 

 (d) Kissing 

 (e) Inheritance 

 Choose the correct answer from the options given below. 

 (1) (b), (c) and (d) only    (2) (b) and (c) only 

 (3) (a) and (c) only    (4) (a), (b) and (c) only 

 jfrt jksx fdlds }kjk lapfjr gksrs gSA 

 (a) jksxk.kqjfgr lwb;ksa ds mi;ksx ls 

 (b) laØfdr O;fDr ls jDr p<+kus ls 

 (c) laØfer ekrk ls Hkzw.k esa 

 (d) pqEcu ls 

 (e) oa'kxfr ls 

 fuEu fodYiksa ls lgh mÙkj dk p;u djksa 

 (1) dsoy (b), (c) ,oa (d)     (2) dsoy  (b) ,oa (c)  

 (3) dsoy  (a) ,oa (c)    (4) dsoy (a), (b) ,oa (c)  

Ans  (2) 

 

179.  Dobson units are used to measure thickness of: 

 (1) Stratosphere (2) Ozone  (3) Troposphere  (4) CFCs 

 MkWclu bdkbZ fdl dh eksVkbZ ekius ds fy, mi;ksx dh tkrh gSA 

 (1) lerkiesMy  (2) vkstksu  (3) {kksHkeaMy  (4) CFCs 

Ans  (2) 
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180.  Persons with 'AB' blood group are called as  "Universal recipients". This is due to:   

 (1) Absence of antigen A and B in plasma 

 (2) Presence of antibodies, anti-A and anti-B and anti-B in on RBCs 

 (3) Absence of antibodies, anti-A and anti-B, in plasma  

 (4) Absence of antigens A and B on the surface of RBCs 

 'AB' jDr lewg ds O;fDr;ksa dks loZ xzkgh D;ksa dgrs gSA 

 (1) IykTek esa izfrtu A ,oa B dh vuqifLFkfr ds dkj.k 

 (2) RBCs es ,asVh -A ,oa ,saVh -B izfrj{kh dh mifLFkfr ds dkj.k 

 (3) IykTek esa ,saVh -A ,oa ,saVh –B izfrj{kh dh vuqifLFkr ds dkj.k  

 (4) RBCs dh lrg ij izfrtu A ,oa B dh vuqifLFkfr ds dkj.k 

Ans  (3) 

 
181.  Which of the following RNAs is not required for the synthesis of protein? 

 fuEu esa izksVhu la'ys"k.k ds fy, dkSu lk RNAs vko';d ugha gSA? 

 (1) tRNA  (2) rRNA  (3) SiRNA  (4) mRNA 

Ans  (3) 

 
182.  Which of the following statements wrongly represents wrongs represents the nature of smooth muscle? 

 (1) They are involuntary muscles  

 (2) Communication among the cells is performed by intercalated discs 

 (3) These muscles are present in the wall of blood vessels 

 (4) The muscle have no striations 

 fuEu dFkuksa esa dkSu fpduh is'kh dh izo`fr dks vuqfpr :Ik ls n'kkZrk gS? 

 (1) ;s vUkSfPNd isf'k;k¡ gksrk gSaA 

 (2) dksf'kdkvksa ds e/; lapj.k varfoZ"V fMLd }kjk gksrk gSA 

 (3) ;s isf'k;k¡ jDr okfgdk dh fHkfÙk esa mifLFkr gksrh gSA 

 (4) bu isf'k;k¡ eas /kkfj;k¡ ugha gksrh gSA 

Ans  (2) 

 

183.  Which of the following characteristics is incorrect with respect to cockroach? - 

 (1) Hypopharynx lies within the cavity enclosed by the mouth parts 

 (2) In females, 7th. 9th sterna together form a genital pouch. 

 (3) 10th abdominal segment in both sexes, bears /pair of anal cerci. 

 (4) A ring of gastric caeca is present at the Junction of midgut and hind gut 

 frypVVs ds laca/k es dkSu lh fof'k"Vrk,¡ vuqfpr gSA? - 

 (1) v/kksxzluh eq[k Hkkxksa }kjk cukbZ x;h izxqgk eas gksrh gSA 

 (2) eknk eas 7th. 9th rd v/kjd feydj tufud dks"B cukrs gSA 

 (3) nksuksa fyaxks esa 10th [kaM esa xqnh; ywe ik;s tkrs gSA 

 (4) e/;ka=k ,oa i'pka=k ds laf/k LFky ij tBjh; va/kuky dk ,d oy; gksrk gSA 

Ans  (4) 
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184.  Which one of the following belongs to the family Muscidae? 

 (1) Grasshopper (2) Cockroach  (3) Housefly  (4) Fire fly 

 fuEu eas dkSu efLdMh dqy eas vkrk gS? 

 (1) fVìk   (2) frypêk  (3) eD[kh  (4) pqxuw 

Ans  (3) 

 
185.  Erythropoietin hormone which stimulates R.B.C. formation is produced by : 

 (1) The cells of rostraI adenohypophysis  (2) The cells of bone marrow 

 (3) Juxtaglomerular cells of the kidney  (4) Alpha cells of pancreas 

 bfjFkzksiksbZfVu gkekSZu tks R.B.C. ds fuekZ.k izfjr djrk gS mldk mRiknu dkSu djrk gSA 

 (1) jksLVªy ,fMuksgkbiksQkbfll dh dksf'kdk,¡  (2) vfLFk eTtk dh dksf'kdk,¡ 

 (3) o`Dd dh tDLVkXyksEks:yj dksf'kdk,  (4) vXuk'k; dh  dksf'kdk,¡ 

Ans (3)  

Section-II 

Single Choice Type 
This section contains 15 Single choice questions. Each question has 4 choices (1), (2), (3) and (4) for its answer, 

out of which Only One is correct. 

bl [k.M esa 15 ,dy fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (1), (2), (3) rFkk (4) gSa] ftuesa ls flQZ ,d lgh gSA 

 

186.  Match List-I with List–II  

 lwph-I dk lwph–II  ds lkFk feyku djks 

 List-I  List-II 

(a) Filariasis (i) Haemophilus influenzae 

(b) Amoebiasis (ii) Trichophyton 

(c)  Pneumonia (iii) Wuchereria bancrofiti 

(d) Ringworm (iv) Entamoeba histolytica 

  

  lwph-I  lwph-II 

(a) Qkbyksfj,fll (i) gheksfQYl ba¶yq,¡th  

(b) vehcrk (ii) VªkbdksQkbVkWu 

(c)  U;weksfu;k (iii) oqpsjsfj;k cSaØks¶VkbZ 

(d) fjaxoeZ (iv) ,aVvehck fgLVksfyfVdk 

 Choose the correct answer from the options given below. 

 fuEu fodYiksa ls mfpr mÙkj dk p;u djksA  

  (a)  (b)  (c)  (d) 

 (1)  (iii) (iv) (i) (ii) 

 (2) (i) (ii) (iv) (iii) 

 (3) (ii) (iii) (i) (iv) 

 (4) (iv) (i) (iii) (ii) 

Ans  (1) 
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187. Following are the statements about prostomium of earthworm. 
 (a) It serves as a covering for mouth. 
 (b) It helps to open cracks in the soil into which it can crawl. 
 (c) It is one of the sensory structures. 
 (d) It is the first body segment. 
 Choose the correct answer from the options given below. 
 (1) (a), (b) and (d) are correct   (2) (a), (b), (c) and (d) are correct 
 (3) (b) and (c) are correct   (4) (a), (b) and (c) are correct  

 dsapq, ds iqjkseq[k ls lacaf/kr dFkuksa eas fn, x; gSA 
 (a) ;g eq[k dks <dus dk dk;Z djrk gSA 
 (b) ;g Qku e`nk njkjksa dks [ksyus esa enn djrk gS ftlesa ;g jsax ldrk gSA 
 (c) ;g ,d laosnh lajpuk gSA 
 (d) ;g 'kjhj izFke [kaM gSA 
 fuEu fodYiksa ls mfpr mÙkj dk p;u djks 
 (1) (a), (b) ,oa (d) lgh gaSA    (2) (a), (b), (c) ,oa (d) lgh gaSA 

 (3) (b) ,oa (c) lgh gaSA    (4) (a), (b) ,oa (c) lgh gaSA 

Ans  (2)  
 
188.  Match List - I with List – II   

 lwph – I dks lwph – II  ds lkFk feyku djksA 

 List-I  List-II 

(a) Adaptive 
radiation 

(i) Selection of resistant varieties due to 
excessive use of herbicides and pesticides 

(b) Convergent 
evolution 

(ii) Bones of forelimbs in Man and Whale 

(c) Divergent 
evolution  

(iii) Wings of butterfly and Bird 

(d) Evolution by 
anthropogenic 
action 

(iv) Darwin Finches 

  

 lwph-I  lwph -II 
(a) vuqdwyh 

fofdj.k 

(i) 'kkduk'kh ,oa ihM+duk'kh ds vR;f/kd mi;ksax ls 
izfrjks/kh fdLeksa dk p;u 

(b) vfHklkjh fodkl (ii) Ekuq"; ,oa Ogsy ds vxzikn dh vfLFk;k¡ 
(c) vilkjh fodkl  (iii) frryh ,oa i{kh ds ia[k  
(d) Ekkuoh; fØ;kvksa 

ds }kjk fodkl 

(iv) MkfoZu dh faQap 

 Choose the correct answer from the options given below. 

 fuEu fodYiksa ls mfpr mÙkj p;u djksA  

  (a)  (b)  (c)  (d) 
 (1)  (iii)  (ii)  (i)  (iv) 
 (2)  (ii)  (i)  (iv)  (iii) 
 (3)  (i)  (iv)  (iii)  (ii) 
 (4)  (iv)  (iii)  (ii)  (i) 
Ans  (4) 
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189. Following are the statements with reference to 'lipids'. 

 (a) Lipids having only single bonds are called unsaturated fatty acids.  

 (b) Lecithin is a phospholipid.  

 (c) Trihydroxy propane is glycerol. 

 (d) Palmitic acid has 20 carbon atoms including carboxyl carbon. 

 (e) Arachidonic acid has 16 carbon atoms.  

 Choose the correct answer from the options given below.  

 (1) (c) and (d) only    (2) (b) and (c) only 

 (3) (b) and (e) only    (4) (a) and (b) only 

 fyfiM ls lacaf/kr dFku uhps fn; x; gSA 

 (a) ,sls fyfiM ftuesa dsoy ,dy vkca/k gksrs gSaa mUgsa vlar`Ir olk vEy dgrs gSa 

 (b) ysflfFku QkWLQksfyfiM gSA 

 (c) VªkbgkbMªkWDlh izkWisu fXyljkWy gSA 

 (d) ikfYefVd vEy esa dkcksZfDly dkcZu lfgr 20 dkcZu ds ijek.kq gksrs gSA 

 (e) ,sjsfdMksfud vEy eas 16 dkcZu ijek.kq gksrs gSA  

 fuEu fodYiksa ls mfpr mÙkj dk p;j djksaA 

 (1) dsoy (c) ,oa (d)     (2) dsoy (b) ,oa (c)  

 (3) dsoy (b) ,oa (e)     (4) dsoy  (a) ,oa (b)  

Ans  (2) 
 

190.  Assertion (A) : 

 A person goes to high altitude and experiences 'altitude sickness' with symptoms like breathing 

 difficulty and heart palpitations.  

 Reason (R): 

 Due to low atmospheric pressure at high altitude, the body does not get sufficient oxygen  

 In the light of the above statements, choose the correct answer from the options given below. 

 (1) Both (A) and (R) are true but (R) is not the correct explanation of (A) 

 (2) (A) is true but (R) is false 

 (3) (A) is false but (R) is true 

 (4) Both (A) and (R) are true and (R) is the correct explanation of (A) 

 dFku (A) : 

 tc ,d O;fDr mPp raqxrk ij tkrk gS rc og raqxrk chekjh ds y{k.k tSls lakl ysus esa dfBukbZ ,oa ân; dh 

/kM+du c<+rk eglwl djrk gSA 

 dkj.k (R): 

 mPPk raqxrk ij fuEu ok;qeaMyh; nkc ds dkj.k 'kjhj dk i;kZIr vkWDlhtu ugha fey ikrhA 

 mi;qZDr dFkuksa ds izdk'k esa fuEu fodYiksa eas ls lgh mÙkj dk p;u djksa 

 (1) nksuks (A) ,oa (R) lR; gS ySfdu (R) , (A) dh mfpr O;k[;k ugha gSaA 

 (2) (A) lR; gS ysfdu (R) vlR; gSA 

 (3) (A) vlR; gS ysfdu (R) lR; gSA 

 (4) nksuksa (A) ,oa (R) lR; gSa ,oa (R), (A) dh mfpr O;k[;k gSA 

Ans  (4) 
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191.  Match List - I with List – II 

 lwph - I dks lwph– II  ds lkFk feyku djksa  

 List-I  List-II 

(a) Allen's Rule (i) Kangaroo rat 

(b) Physiological 

adaptation 

(ii) Desert lizard 

(c) Behavioural 

adaption 

(iii) Marine fish at depth 

(d) Biochemical 

adaption 

(iv) Polar seal 

  

 lwph -I  lwph -II 

(a) ,syu dk fu;e (i) daxk: pwgk 

(b) 'kjhj fØ;kRed 

vuqdwyu 

(ii) e:LFkyh fnidyh 

(c) O;ogkfjd 

vuqdwyu 

(iii) xgjkbZ eas leqæh eNyh 

(d) tSojlk;fud 

vuqdwyu 

(iv) /kzqoh; Hkkyw 

 Choose the correct answer from the options given below. 

 Ukhps fn, x;s fodYiksaa ls mfpr mÙkj dk p;u djksa 

  (a)  (b)  (c)  (d) 

 (1)  (iv)  (i)  (iii) (ii) 

 (2)  (iv)  (i)  (ii) (iii) 

 (3)  (iv)  (iii)  (ii) (i) 

 (4)  (iv)  (ii)  (iii) (i) 

Ans  (2) 
 

192.  Which one of the following statements about. Histones is wrong? 

 (1) The pH of his tones is slightly acidic. 

 (2) Histones are rich in amino acids – Lysine and Arginine. 

 (3) Histones carry positive charge in the side chain. 

 (4) Histones are organized to form a unit of 8 molecules.  

 fuEu esa fgLVksu ds fo"ke eas dkSu lk dFku xry gS? 

 (1) fgLVksu dh pH fdafpr vEyh; gksrh gSA 

 (2) fgLVksu esa ykbflu ,oa vkftZfuu ,sehuks vEy izpqj gksrs gSA 

 (3) fgLVksu dh ik'oZ Ük`a[kyk eas /kukRed vkos'k gksrk gSA 

 (4) fgLVksu laxfBu gksdj 8 v.kqvksa dh dh ,d bdkbZ cukrs gSA 

Ans  (1) 



    NEET-2021 | DATE : 12-09-2021 | BIOLOGY 
 

Resonance Eduventures Ltd. 

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)  -  324005 

Ph. No.: +91-744-2777777, 2777700 | FAX No. : +91-022-39167222 

To Know more :  sms RESO at 56677 | Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in | CIN : U80302RJ2007PLC024029 

 

This solution was download from Resonance NEET 2021 Solution portal  
 

 

Page # 79 

7340010333

193. Statement I : The codon 'AUG' codes for methionine phenylalanin 

 Statement II : 'AAA' and 'AAG' both codons code for the amino acid lysine.  

 In the light of the above statements, choose the correct answer from the options given below. 

 (1) Both Statement I and Statement II are false 

 (2) Statement I is correct but Statement II is false 

 (3) Statement I is incorrect but 

 Statement II is true 

 (4) Both Statement I and Statement II are true  

 dFku I : izdwV 'AUG' ehfFk;ksuhu ,oa Qsfuy - ,sykfuu dk dwV ys[ku djrk gSA 

 dFku II : 'AAA' ,oa 'AAG' nksuksa izdwV ,sehuh vEy ykbfll dk dwV ys[ku djrs gSaA 

 mi;qZDr dFkuksa ds vk/kkj ij fuEu fodYiksa ls lgh mÙkj dk p;u djksaA 

 (1) nksuksa dFku I dFku II xyr gSaA  

 (2) dFku I lgh gS ysfdu dFku II xyr gS 

 (3) dFku xyr gS ysfdu dFku II lgh gSA 

 (4) nksuksa dFku I dFku II lgh gSaA  

Ans  (2) 

 

194.  Match List-I with List-II. 

 lwph-I dk lwph –II ds lkFk feyku djksa. 

 List-I  List-II 

(a) Scapula (i) Cartilaginous joints 

(b) Cranium (ii) Flat bone 

(c) Sternum (iii) Fibrous joints 

(d) Vertebral 

column 

(iv) Triangular flat bone 

   

 lwph -I  lwph –II 

(a) LdSiqyk (i) mikfLFk ;qDr tksM+ 

(b) diky (ii) +ipVh vfLFk 

(c) mjksfLFk (iii) js'kh; tksM+ 

(d) d'ks:d naM (iv) f=kHkqtkdkj piVh vfLFk 

 Choose the correct answer from the options given Below 

 fuEu fodYiksa esa ls mfpr mÙkj dk p;u djksa 

  (a)  (b)  (c)  (d) 

 (1)  (ii)  (iii)  (iv)  (i)  

 (2)  (iv)  (ii)  (iii)  (i) 

 (3)  (iv)  (iii)  (ii) (i) 

 (4)  (i)  (iii)  (ii)  (iv) 

Ans  (3) 
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195.  Which of the following secretes the hormone, relaxin, during the later phase of pregnancy ? 

 (1) Corpus luteum    (2) Foetus 

 (3) Uterus     (4) Graafian follicle 

 lxHkZrk ds mÙkjk/kZ dh vof/k esa dkSu fjySfDlu gkeksZu dk L=kkfor djrk gS? 

 (1) ihr fiaM     (2) Hkwz.k 

 (3) xHkkZ'k;     (4) xzkQh iqVd 

Ans  (1) 

 

196.  Identify the types of cell junctions that help to stop the leakage of the substances acrossa tissue and 

 facilitation of communication with neighbouring cells vin rapid transfer of ions and molecules. 

 (1) Tight junctions and Gap junctions, respectively. 

 (2) Adhering junctions and Tight junctions, respectively 

 (3) Adhering junctions and Gap junctions, respectively.  

 (4) Gap junctions and Adhering junctions, Respective 

 dksf'kdk laf/k;ksa dks igpkfu, tks inkFkksaZ dks ÅÙk ls ckgj fudyus ls jksdrh gSA ,oa vk;uksa ,oa v.kqvksa ds raqjar 

LFkkukarj.k ls iMkslh dksf'kdvksa ds e/; lapj.k LFkkfir djrh gSA 

 (1) Øe'k% n`<+ laf/k ,oa varjkyh laf/k 

 (2) Øe'k% vklath laf/k ,oa n`<+ laf/k   

 (3) Øe'k% vklath laf/k ,oa varjkyh laf/k   

 (4) Øe'k% varjkyh laf/k ,oa vkalth laf/k 

Ans  (1) 
 

197.  Which of these not an important component of initiation of parturition in humans? 

 (1) Synthesis of prostaglandins   (2) Release of Oxytocin  

 (3) Release of Prolactin    (4) Increase in estrogen and progesterone ratio  

 Ekkuo eas izlo ds vkjaHk ds fy, fuEu eas dkSu egRoiw.kZ vo;o ugha gS? 

 (1) izksLVkXySafMu dk la'ys"k.k   (2) vkWDlhVksflu dk ekspu  

 (3) izksySfDVu dk ekspu    (4) ,LVªkstu ,oa izkstsLVjksu ds vuqikr eas o`f) 

Ans  (3) 
 

198.  Which of the following is not a step in Multiple Ovulation Embryo Transfer" Technology 

 (MOET) ? 

 (1) Cow yields about 6-8 eggs at a time 

 (2) Cow is fertilized by artificial insemination 

 (3) Fertilized eggs are transferred to surrogate m hers at 8-32 cell stage 

 (4) Cow is administered hormone having LH like activity for super ovulation 

 fuEu esa dkSu eYVhiy vksowys'ku ,sEcz;ks VªkalQj rduhd (MOET) dk pj.k ugha gSa? 

 (1) xk; ,d le; esa yxHkx 6-8 vaMs mRiUu djrh gSA 

 (2) xk; dks Ñf=ke oh;Zlspu }kjk fu"ksfpr fd;k x;k tkrk gSA 

 (3) fu"ksfpr vaMs 8-32 dksf'kdk voLFkk esa izfrfu;qDr eknk esaa LFkkukarfjr fd;s tkrs gSA 

 (4) xk; eas mPPk vaMksRltZu ds fy, LH tSlh fØ;k okyk gkeksZu fn;k tkrk gSA 

Ans  (4) 
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199. During muscular contraction which of the following events occur? " 

 (a) 'H' zone disappears 

 (b) 'A' band widens 

 (c) 'I' band reduces in width 

 (d) Myosine hydrolyzes ATP, releasing the ADP and Pi 

 (e) Z-lines attached to actins are pulled inwards 

 Choose the correct answer from the options given below.  

 (1) (a), (b), (c), (d) only    (2) (b), (c), (d), (e) only 

 (3) (b), (d), (e), (a) only    (4) (a), (c), (d), (e) only  

 Iks'kh ladqpu esa dkSu lh ?kVuk,¡ gSaA 

 (a) 'H' {ks=k foyqIr gks tkrk gS 

 (b) 'A' cSaM pkSM+k gks tkrk gSA 

 (c) 'I' cSaM dh pkSaM+kbZ de gks tkrh gS 

 (d) ek;ksflu ATP, dks tyvi?kfVy dj ADP ,oa Pi dk ekspu djrk gSA 

 (e) ,fDVu ls layfXur Z-js[kk vUnj dh rjQ [khap tkrh gSA 

 fuEu fodYiksa ls lgh mÙkj dk p;u djksA 

 (1) dsoy (a), (b), (c), (d)     (2) dsoy  (b), (c), (d), (e)  

 (3) dsoy  (b), (d), (e), (a)    (4) dsoy  (a), (c), (d), (e) 

Ans  (4) 

 

200.  The Adenosine deaminase deficiency results into: 

 (1) Parkinson's disease    (2) Digestive disorder 

 (3) Addison's disease     (4) Dysfunction of Immune system 

 ,Mhuksflu fM,ehust dh deh ls D;k gksrk gS 

 (1) ikfdZUl jksx     (2) ikpu fodkj 

 (3) ,Mhlu jksx     (4) izfrj{kh ra=k dk;Zghu gksuk 

Ans  (4) 
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